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Note from the author:

About this resource ...

Number Knowledge Series 1 - Book 3
> (Code: NK3)

is one of a series of 8 resources written to support the NUMERACY PROJECT currently
being implemented within many New Zealand schools. Within each resource in this
series, the NUMBER KNOWLEDGE FACTS are systematically and methodically
introduced, providing students with the 'building blocks' required to progress through the
various NUMBER STRATEGY STAGES.

AWS=Pub

These resources have been compiled using the Achievement Objectives from the appropriate NUMBER and
ALGEBRA STRANDS as stated in the document ...

Mathematics in the New Zealana Curiiculum
and information from the various restutoes of tne ...
Numeracy Professional Development Project

... involving the Strategy Stagesas listed below.

Z-’EZ-’EZ-’EZ-’E:E Strategy Stages 2 -5

1 One-to-one Couiiting — | 1,,?

2 Counting from One on Malerials /é Q E_J. ' ;\Q

3 Counting frorr:, e by Iinaging -9 ~<‘p./ J\@ '

4 Advanced Countifia/{Counting On) "-',. /é. si

5 Early Additive Part-Whole

6 «Juanced Additive Part-Whele

7 Adyanted Multiplicative Pa Wh le

] I dvanced Proportional Fart-VWhole

FB; . Resource | Suggested | Curriculum
How to use these resources.: a . Code |Year Group Level
There are 8 regburces in thic series. L 1 NK1 1 1
2 NK2 2 1
The table “Opposite “suggests the Year Grou
each Gook can ¢ used at, however this is oniy a 3 NK3 3 2
suggestion 4 NK4 4 2
There istNO obvious refcténce (0, Year Group or ° NKS ° 3
Level noted on each activity cheet, therefore the 6 NK6 6 3
appropriate resource car oe selected for your 7 NK7 7 2
students, regardless of their Year Group.
8 NK8 8 4

This series of resources is supplied as BLACKLINE PHOTOCOPY MASTERS.

Available as HOMEWORK WRITE-ON WORKBOOKS /"\

These resources can also be purchased as Write-On ‘ \\ﬁ

Student Workbooks, which are sold to pupils as HOMEWORK / — el
REVISION resources and cannot be photocopied. /J
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How to use this resource - Book 3

The purpose of this resource is for students to become familiar with saying and
writing the numerals from 1 to 100 and counting in 1's, and skip counting 2's,

5's and 10's.

There are 40 activity sheets in this resource. The worksheets are divided into 2

groups of 20 and gradually get more difficult. Below is a summary of what is
contained within each group of worksheets.

If the worksheet is going to be sent home, copy the appropriate section below and send this home with the first
worksheet so that parents / care-givers know what to do.

Worksheets 1 to 20

Worksheet
Activity

Teaching Ideas

A

In this activity, pupils are exposed to counting forivards and backwards in 1's aiid skip ¢olinting in
2's, §'s and 10's, as they write in the missing numbens

In this activity, pupils improve their recall of the riuiiilbers as they write themtimbers that comesbefore
and after a given number either counting i\ 1's or skip counting in 2°5, 8's ori0's.

C

In this activity, pupils learn to orde" € huritbers between 1 & 10U Tront smallest to largestarvice
versa.

In this activity the firstdaquestions revise the numbers thatadd to 9 introduced in Bodk 2. Questions
involve adding and subtrasting. Example: 1+0=41,5-3=2 3+4=7_65=3

In questions 7.to 12, theé'Combinationsthat &dd up #8610 and the corresponding subtraction facts are
revised. Comuihations that add upie 14 to12.alid the correspondifig sublrattion facts are
introduced. “Uinaer each group of shapes, pupils are to write an.equation.

Pupilé are b answer each question Dy counting the shapes. aliddiriting their answers in the boxes
provide e - B Y
Exarple: EE'*BE:L\‘ 8+2=10 %%5@- 9 12-3=9
Some questions @& arfangedin such a way as to'allew pupils to develop various strategies when
solving problems, elthicr counting on or counting back
Example: ALY 4.8 N
+ a7\ / o =
L J VAV VA'

In Questiohs 13°& 14, two of the thiee lumbers always add to 5 or 10 respectively, hence
developing the strategy of 5+ & 10+,

Exdmple: 4+2+1=7, 79 4+6> 1)

question 15, pubils write an €guation for the information given in a simple word problem, then
soive the equation.

In question 16, plpils @re to shade in one half of a group of shapes or a single shape.

In this activity, €kip counting in multiples of 2's, 5's or 10's is used to work out the appropriate
multiplication facts. A number line is provided.

[ T A I T Y A RO A B
— 1 T 1 T T 1T T T 1
Example: ol 2] el sliofia]nmliel]is]o]

In this activity, the multiplication facts have been rearranged to provide pupils an opportunity to
develop alternative solving strategies, before attempting division problems.

In this activity numbers (numerals) are written in words and pupils are to read the number words and
write the number.

Pupils are exposed to ‘teen’ and ‘ty' numbers in pairs (17 & 71, 18 & 81) and other numbers where
the digits have been reversed (46 & 64, 28 & 82 efc.).

AWS
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Worksheets 21 to 40

Worksheet .
Activity Teaching Ideas

A ¢ In this activity, pupils are exposed to counting forwards and backwards in 1's and skip counting in
2's, 5's and 10's, as they write in the missing numbers.

B ¢ In this activity, pupils improve their recall of the numbers as they write the numbers that come before
and after a given number either counting in 1's or skip counting in 2's, 5's or 10's.

c ¢ In this activity, pupils learn to order 8 numbers between 1 & 100 from smallest to largest or vice
versa.

¢ In this activity, a number line from 0 to 20 is provided for pupils to use when solving the addition or
subtraction problems, revising all number combinations from 2 to 20. A number line master is
provided on the next page that can be photocopied and given to pupils.

Example: «—4+—+—+—+—+—+—+—+—+—+—+—++++—1 —+—+—+—>>
KM 11[2][3][4][5][6][7][8 ][0 M [11][12][1al 14| [i5 [16] [+ ][18][10] ]
e Adding combinations less than 9, have 10 added ta'orie nuioer.
Example: 1 written as 11, 2 written as 12, elc. so tie.questioris become 12+ 5 =2, 3+ 14 = ? efc.

¢ Within each question from 1 to 18, the larget humbér is written first, allowing pupiis to develop the

D ‘counting on’ strategy to solve, thus moving &1 from imaging using'@hapes.

¢ In questions 25 to 26, 2 out of the 3siumbers or 4 out of the 5 puinbers atd to 5 or 10 respaciively,
hence developing the strategy of 5+ & 10+.
Example: 4+2+1=7,(7+4+6 1/, 6+4+3+1+85=_2

o In questions 28 & 29, punils write 2 equation forghe informiation given in a simple word groblem,
then solve the equaticti

¢ In questions 30 ta'55, pupiis are learning to afid ok suttiact in multiples of 10, with iumbers
expressed in dollar;

Examf@le: €20+ 30 = $50, $40.+ $50 = £90, ss1c.

o In thifactivity, for questions 1 to.8 thie multiplication facts faf 2's, 5's or 10's are revised.
Example »2x 6 =12, 5x 5~ 25 7 x'10 =170, efc.
In guestons 9 to 12, the multipliegtion facts have beeniearranged to allow pupils to develop
aliernative strategies When solving.

E | oExample: 6x 4= 121008 = 30
o The appropriate skip counting sequences are prowitied.
Example: [ as. 34 6,8, 10,12, M, 1615, 20
55 5,10,15,20, 254035, 0. U5, 50

_i0's:__10, 20, 36, 40, £, £5, 70, 80, 90, 100

o i this activity, fordWorksheats 21 to 30 and questions 1 to 10, the division facts for 2's, 5's and 10's
i mare introduced¢ Example: 72+2=6,256+5=15, 80+ 10 = §, elc.
¢ In question.11, pubils @re to colour in fractions of a shape - '/,'s, '/s's or /4o's.

Example: "Coldur.in Vs of this shape.

F ¢ In this activity, for Worksheets 31 to 40 and questions 1 to 4, the division facts for 2's, 5's and 10's
are revised.

e For questions 5 & 6, the division facts have been rearranged to allow pupils to develop alternative
strategies when solving. Example: 12+2=6,25+5=5, 80+ 10 = 8, elc.

¢ In question 7, pupils are to find '/, '/5 or /4 of a given number. Example: What is '/, of 20?
e In question 8, pupils are to solve a word problem involving sharing money into 1's, 'Is's or V4g's.

¢ In this activity numbers (numerals) are written as words and pupils are to read the number words
G and write the number.

o Pupils are exposed to ‘teen’ and ‘ty' numbers in pairs (17 & 71, 18 & 81) and other numbers where
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L1A
o2
K.

Bks Name:

&% e Liowladzs Workshast

Class:

Write in the missing numbers as you count in I's,

I’ 14 14 14 5’ 6! _ q’ 14 14 14 I3! 14 14 I6! _ Igf Iq! Qo
E Counting in I's, write the Write these ( 55 )
number that comes numbersinorder 28 8| ¢ 79
before and after.. = from smallest to
largest. Uy 63 37 100 4
l 5 2. I 8 )
3 12 u q N\“2EVR. S
E Add or subtract these numbers . J Skip counting ant! multiplying.
Use the numberline to work out the answers,
.l + 0 = 2 6 + | = 3 2 ! = Examle: 2+2+2+2+2=5x2=10
—— ettt -+
cd-2= 22+ =@ ("1 = de Q] a)u]6] s]l] e )] 20
Add or subtract these objeci: Be -+ @ﬁ = ol x 2 = W2 x 2=
then write the equatiah. 3 + 2 =45 - § -
T T a2 3x27 L udx2=
5 85 X 20" | 6 6Xx2=
7 X ,? :— 8. 8 X ,? :—
799 x 2= | lox 2=
v il write in the missing
SaE o multiplication facts.
VA@AV
%\\f@y . 2 x—: 2 .?.—X 2 =u
. 3.—)(_?:6 u.,?x_-_-g
52x =10 ¢  x2=12
Write these number @
words as numerals, g —
! thirty-one =
2 fifty-four =
3 3 + | + 2 = = -
3 thirteen =
If you have 34 and are given 38, —
how much money do you have? u. Sixty-six =
15, + = 5 forty-five =
Colour in half of these sh e
) olour in half of These shapes, \\,,, “\_‘ / [ ,3 3, L15 5'—! 66 ]
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&% Numbar fiowleds Worksheyt

£

Bk3 Name: C’GSS.’

Wrife in the missing numbers as you skip count in 2's.

Qr—r—r 8’ Ior IQ; ’ ’ rQor QQ,_,_, ‘28; 30r—r—r 36

Skip counting in 2's, write the Write these ' )
number that comes numbersinorder | 88 g |9 54 32
before and after ... from smallest to

largest. 25076 uyg9 67 3
R > 8 |
: 20 . 26 P\ ArN. % 2
- , .
Add or subtract these numbers . Ny Skio counting andéultiplying.
Use th berhatowork out the answers.
L & + 0 = 2 | + | = i 2 2 I seExceJr:;T ef’+.’)+ :/??r+??u=§x.’?r='loers
— RNttt
cd-b=_ 22+ =6 (123 10,]5 068wl 5]
Add or subtract these objects, ¥ - & - Loox Q = LGl x 2 =
then write the equation 3+ 2 = & ‘ -
3.3XQ:__".qX,?:—
5 U X & o elox 2=
RN D = 8 5 x 2=
9. &X 2 = .6 X 2 =
Write in the missing
multiplication facts.
. 2 x—: 7] -?._X 2 =16
3.—)(.?:[8 u..?x_=.?0
52x =106« x2=26
Write these number @
words as numerals. A
I - = 12 - = ! thirty-seven
2 eighteen =
B3 + 2 + 3 = w5 + 5 + 3 = —
- 3 seventy-three =
If you have 7 golf balls and lose 5, how —
many golf balls do you have left? . fifty-five =
15, - = 5 eighty-one =
/ \ RN /
i \
le.  Colour in half of these shapes. \V/ER\Y [ I8 37 55 73 8l J
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&% e Liowladzs Workshast

L1A
o2
K.

Bks Name: Class:

Write in the missing numbers as you skip count in 5's,

5! _—y — Qo’ 25! 14 14 14 L{57 50’ 55’ 14 14 14 75! 80! _ —
E Skip counting in 5's, write the Write these
number that comes numbersinorder | @4 |7 60 23 Ul
before and after ... from smallest to
largest. 5 34 82 58 9
l Io 2. 65 ) )
’ U5 - 30 RN WY
E Add or subtract these numbers. J Skip counting ant! multiplying.
Use the numberline to work out the cnswers,
. 2+ 0 = 2 U + 3 = 3 / / = Examle: 2+2+2+2+2=5x2=10
e
©3-2= s =S (B 7 = 00 (0] 20 e]s]o]2 e 5] 20
Add or subtract these objeci: B + & - g x 2 = o d x 2 =
then write the equatich. 3 + 2 =45 - § -
Ny N 3 10 x 2 U 2 X 2 =

1
o

| 4 » 2 _
?AgA_I_E:ﬁ @@@).,.éf@ = 5 5 x( 2= | 6 8x2=
ﬂﬂ B ol o9 Qs » 6% 02 s 7 x 2

) = = sl x 2 = 0. 3 x Q =

‘}:{ﬁ‘ . Al Write in the missing %

0 multiplication facts.

ST, ) x = .1 2 x 2 =12
3._X.?='-l L/..?X_=.?0
52x =M & x2=16

Write these number @

words as numerals.

z - = 12 - = L thirty-three =

2 fifty-seven >
3 sixty-one = -
y, sixteen = -
5. seventy-five >

16 33 57 6 75|
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£

Bk3 /\/afne.'

&% Numbar fiowleds Worksheyt

Class:

Wrife in the missing numbers as you skip count in I0's,

14

130,40, , 170

14

10, 20, ,60, , ,90,

14 14

Skip counting in 10's, write the

Write these
numbers in order

33 52 | 27 69

number that comes
before and after ... from smallest to
largest. 85010 77 94 ué
. QO 2. 70 p
3 qo u, 50
E Add or subtract these numbers . Skip counting andénultiplying.
Use the numberhetiawork out the answers,
L3+ | = 2 U+2=_ 23 o= Examplé 2+ 2+0+2+2=5x2=10
ARt
U3 sl =5 (03 =2 0000 e s o]l s
Add or subtract these objects, i@ + @ = L S9x Q2 = s ox 2 =
then write the equation; 3 + 2 = & B
Ny VY YW 3. 6 X 2 = v 7 X 2 =
5\3@@ @@ - 5. X = 6. X =
% @\7&, % + % v%/ / o 3 2=
A
7 49D = s U x 2=
" T g . K> = e i0x 2 = 02 x 2=
— m—
3  Write in the missing
= multiplication facts.
L2x =2 2 x2 =28
) s x2=12 | «2x =18
52x =6 |- X2 =20

13.

I + 5 + U =
If you had I3 blocks and lost 9, how
many blocks do you have left?

15.

6.  Colour in half of these shapes.

Write these number
words as numerals.

thirty-four
fifteen

forty-three

ninety-nine

fifty-one

u 4z 5l WJ

AWS
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g Nuiber Tnonladee Workshest

Bk3

Name: Class:
Write in the missing numbers as you count backwards in I's,
30’ 14 14 14 26! 25! _ QQ’ 14 14 14 Ig! 14 I6! _
Counting in I's, write the Write these

number that comes

numbers in order

2 68 97 U3 29

before and after.. = from smallest to
largest. 80 35 71 U 56
- 26 = '
. I8 , 2l W AV
E Add or subtract these numbers. J Skip counting ant! multiplying.
Use the numberline to work out the answers.
L] + Q2 = 2 3 + 3 = 3 6 2 = Examplé5+5+5+5+5+5=6x5 230
. —t— Tttt t -+ —
“7-3=_ s+ = &0 - 1 =53¢ [0 5)i0][15][20] 25][30][f5 ] k0 45 | 50]
Add or subtract these objec: B« & - ol x 5 = W22 x 5 =
then write the equatich. 3 + 2 =45 - § -
T T i 3x5 L iUx5=
= s 5 x( Ba= 6 6x5=
3 x5 = 8 8 x5 =
= 909 x 5 = 010 x 5 =

Write in the missing
multiplication facts.

F

by

Ié. Colour in half of these shapes.

L 5 x =5 | 2 x5 =10
" Ry \_ ot = s x5=154+5x =20
AT A S0 Y. — —
L7\ 4 A;A N a:‘i@g s 5x =256 x5=3
3 - N N vp\r.éf -
AVA I\ | A %%? Write these number @
y el o
\Z\4 TV S words as numerals. ==
I - = 12. - = ! nineteen =
2 sixty-two =
B U + Q@ + 3 = M & + Q@ + 6 = -
— e | 2 twenty-two =
If you ate 7 carrots and then 5 more, —
how many carrots did you eat? ¢ ninety-one =
15, + = 5. twenty-six =

19 22 26 62 9{]

AWS
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&% Nunber Tnowledzs Workshast

1%
Bks Name: Class:
Wrife in the missing numbers as you skip count in 2's.
QQ’ 14 14 14 30’ 33’ 3'.” 14 14 14 L{Q! 2 L{6! _y — 52’ _
Skip counting in 2's, write the Write these |
number that comes numbersinorder = 38 66 87 5 Wu
before and after ... from smallest to
largest. gq Il 53 72 20
l ,?L{ 2. 50 .
? I8 . 38 P\ A2re. % 2
. , y
Add or subtract these numbers . Ny Skio counting andéultiplying.
Use the numberhetiawork out the answers,
L2+ 3= 26+0=_ 327 42-= Erample: & 54 5. 5454526550
— RNttt
cd-d=_ s bs = (L1076 = 11055 10]15]20] 28] 50 35 st B0
Add or subtract these objects, W @ = . 3x 5 = | & . x 5 =
then write the equation 3+ 2 = & ‘ -
& o s U x 5 = _\’»IX5=
G “’:J
st mm ? | 9
Goeny T 7 8 8 £ 10x 5 =
G 9 /ox 5 = 0.5 x &=
! Write in the missing
multiplication facts.
LS5 x =35 2 x 5 =40
[ 5 x5=u5 | «5x =50
@“@Q@ s 5x =106 x5=25
ﬁgﬁ Write these number @
vV words as numerals. e
I - = 1. - = [ forty-one
2 twenty-nine =
3.5 + 4 + | = w7 4+ 3 + | = -
3 seventy-seven =
If you have I2 lollies and give away 3,  —
how many lollies do you have left? . fourteen =
15, - = 5 ninety-two =
.  Colour in half of this shape. [ I 29 Y/ 77 g2 J
AWS
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g Nuiber Tnonladee Workshest

Bk3 Name: Class:
Write in the missing numbers as you skip count in 5's,
5’ IO’ 14 14 14 30! 35’ 14 14 14 55’ _y — 70’ 75’ _y — qo
E Skip counting in 5's, write the Write these )
number that comes numbersinorder | @3 2 |7 78 2l
before and after.. = from smallest to
largest. 3 65 89 .3 50
L 20 > 15 '
? 75 : do RN WY
E Add or subtract these numbers. J Skip counting ant! multiplying.
Use the numberline to work out the answers,
. 3 + 2 = 24 + 0 = 3 3 3 = Examplé5+5+5+5+5+5=6x5 230
—— ettt -+
“5-0=_ 53+ = 1. L8[ 51 10][15] 20]25] 30]|25 ko] 65| 50|
Add or subtract these objec: 0 x 5 = W3 x 5 =
then write the equatich. K -
35 x 857 v dx5=
5, 6 X 6. - 6. ,? X 5 =
— —
i B x5 = 5 8x5=
AL+ = 5 7=Q‘ 99 x 5 = o 7 x &5 =
N | e — —
AVA %Z’% S W&& jal  Write in the missing
+ Sla® % + E s multiplication facts.
VAV ((6%4 | - Ay
\Z: @ L, VYV | 5x =302 x5=35
: K ° f s |s x5=20 «5x =5
5 s5x =156  x5=50
: i Write these number @
words as numerals. g —
- = ! eighty-eight =
2 thirty-two =
B3+ 2 + U = w7 + 6 + 4 = S
, 3 twelve =
If you have 6 golf balls and find 7 more, f: —
how many golf balls do you have? § . twenty-three =
15, + = 5. twenty-one =

Ié. Colour in half of this shape.

2 2 23 32 88|
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£

Bk3 /\/ame.'

&% Numbar fiowleds Worksheyt

Class:

Wrife in the missing numbers as you skip count in I0's,

— s — 30r '-{0, 507 ’ ’

,__,loo, 120, 150,160,

Skip counting in 10's, write the

number that comes |
before and after ...

Write these
numbers in order
from smallest to

7 73 22 95 us

largest. 57031 86 6y 15
. 30 2. 80 J
: 110 . 160 P\ A2FNR. % 2
. , y
Add or subtract these numbers . Ny Skio counting andéultiplying.
Use the numberhetiawork out the answers,
L 3+ 0 = 21 +65=_ 17 0= Example: 5 55+5:5+5+5=6x5=_
— RNt
©6-3=_ 6+ =8 (135 =2 0555|2025 30| 38 uelus S0
Add or subtract these objects, W & - L ex 5 = L@ x 5 =
then write the equation "3 o+ 2 = & ‘ -
3 | x 5 =0 ‘ ¢ 3 x 5 =
5 9 x & | edxS=
7. 3 &5 = 8. ,? X 5 :—
(— 9 &x 5 = 0. & x &=
Write in the missing
multiplication facts.
LS5 x  =d0 | 2 x § =ud
A |, P et S |s x5=20 «5x =50
<:4¢ _ *3[:3:1: E _ 5. 5)(—: 15 6.—)( 5 =35
« w, EEES Write these number @
o i words as numerals. e
I - = 12 - = L twenty-seven
2 sixty-one =
7 + | + d = w5 + & + 5 = —
3 seventy-two =
If you have 313 and spend 35, how —
much money do you have left? u sixteen =
15, - = 5. ninety-nine =
.  Colour in half of this shape. [ 16 27 6l 72 qu

AWS
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Bks Name:

%@ Wbt Suowladzs Morkshast

Class:

Write in the missing numbers as you skip count in I's,

I6r rQor—r—r Q3r

14 14 14

,7, __,_ ,30, 3,

14

B

Counting in I's, write the

Write these
numbers in order

83 8 M 90 39
2L 62 yo Jé6 SI

number that comes
before and after.. k&= from smallest to
largest.
- I5 * 23
’ 32 . 26

E Add or subtract these numbers.

J Skip counting ant multiplying.

Use the numberline to work out the answers.
L2+5=  25+0= 17 I = Exampleinio + 10410 + 10 + 10 = 5 x 10550
. —t— e t——t+—t—t+—tt -+ —
©6-d=_ 55+ = &0 - 5 = 06 [1]10)20]30][uo] 50][60][f0) 0] 56 |10
Add or subtract these objecis. P& + & - M x10= 22 x10=
then write the equatiah. 3 + 2 =45 - § -
A ‘ —ﬁb&q&—‘i—i 3~3XI0«'__ "/~'-lXIO"—'_
'«. 5.5)(”‘“:— 6.6XIO:—
“xjdo=_ | s &xl0=_
| 99 x10=_ | 0loxI0=
o [l write in the missing
multiplication facts.
LI0x =10 | 2 x 10 =20
I N\, i x10=30 «I0x =40
B e 510x =50 | 6  x10 =60

SRS

13.

2+ 5 + 3 =

If you have 9 toy cars and buy 6 more,
how many toy cars do you have?

15.

2
9

+

Write these number @
words as numerals. AN
! thirty-five =
2 thirty-one >
I seventy-seven = -
. thirteen >
5, fifty-three >

Ié. Colour in half of this shape.

13 3 35 53 77 |

AWS
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&% N Toonkdye Morkshest 10

£
Bk3 Name: C’GSS.’

Wrife in the missing numbers as you skip count backwards in 2's,

36’ 14 14 14 28!—! _— QQ! Qo! 14 14 14 IQ’ ’0’ 8’—! _— Q

Skip counting in 2's, write the Write these [ |
nunbersinorder | 75 3 498 6l 26

number that comes
before and after ... from largest to
smallest. I8 84 uy 30 59
o le 22 P\ A2re. % 2
B - ' 2P . L
Add or subtract these numbers . Ny Skio counting andéultiplying.
Use the number lhatiwork out the answers.
L O+ 6 = 2 2+ 2 = 3 6 5 I sl;e'xa:u;,lzz7 erI0+” :/Ioor+olg=§x‘ljon=.ers
— Rt
$E8- 0= 224 =8 L1073 =0 90 uls0]eo] e e 0lioo
Add or subtract these objects, L 4ox 10 = LGl x 10 =
then write the equation | o
3R x10="1w 9x10=
5 & x IOy, | 6 10x10=
N A d K £ 5 x10=_
9 3ox 10 = 0. 6 x 10 =

EEEE — .
& eﬂ@m@ ) Write in the missing
He multiplication facts.
S NEEEEE ciox =70 2 x10=80
y 5 x 10 =90 | « IOX_=IOO

510x =30 |6  x10=50

Write these number @

words as numerals.

I - = 2 - = ! fourteen =
2 fifty-two =

oy + | + 3 = ml0 + 3 + 7 = —
3 forty-one =

If you have 15 bisc uits and eat 9,

how many biscuits do you have left? #ﬁ y. Sixty-six =

5, - = 5. twenty-five =

6. Colour in half of this shape. [ I 25 dl 52 66J
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Name: Class:
Write in the missing numbers as you skip count in 5's,
14 14 I5 14 14 14 35’ Llof L’5’ _y — 60’ 65’ 14 14 14 85’ qo

E Skip counting in 5's, write the Write these

17 76 ud 34 25

-
Q@@

6.  Colour in half of these shapes.

number that comes numbers in order
before and after ... from smallest to
largest. 65 92 9 B8 5l
.25 2 50
3 70 u, 85
E Add or subtract these numbers . Skip counting ant! multiolying.
Use the numberline to work out the answers.
L]+ 7 = 2 6 + 3 = 3 606 = Exampleiio + 10410 + 10 + 10 = 5 x 10250
‘g -2-= s 7 -q (s g_llllllllllll
R A A SR P °F | @ll10:120] 30][ o] 50] 60| Fo 150 90] 100
Add or subtract these objecis Bg” @@ = 105 x 10 = 204 x 10 =
then write the equatich. 3 o+ 2 =45 T
T | 6xlog ¢ 2x10=
AN
s Lo [ ofe L ﬁk’ = 5 | x10.= 6 8 x 10 =
AN AN, - -
9 5 » 9% 40 = s 7x10=
’ 3 i L v = 200 x 10 = o 3 x 10 =
: ‘ F Write in the missing
+ = . multiplication facts.
LI0x  =dO | 2 x 10 = 80
’ nN\" ° N~ 2 x10=90  «l0x =10
sty ASASN Ta
b\ g SAAASAA sl0x =70 & x10=100
AVAVA (8 = % A — —
B DAL & a Write these number @
VAVAY YT v words as numerals, =
L - = R - = ! sixty-three =
2 seventy-seven =
|+ U + 9 = M Q2 + 8 + 3 = -
3 twelve =
If you ate 3 grapes and then 7 more, _
how many grapes did you eat? u, thirty-six =
15, + = 5. twenty-one =

12 2 36 63 77
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Class:

12

Wrife in the missing numbers as you skip count in I0's,

_—y — 30! 14 14 14 70! 80! qo! 14

., 130, o, 150,

-y

Skip counting in 10's, write the

Write these

13 4y 80 22

number that comes numbers in order 69
before and after .. from largest to
smallest. 3609 75 7. 58
' 60 2 150 :
P 120 “ Jo P\ A2FNR. % 2

E Add or subtract these numbers.

- !
Ry Skio counting andiiultiplying.

Use the number ihailawork out the answers.

L 3+ 5 = 20+7=__ 38 = Example: 10510 + 10+ 10+ 10 =5x 10 = &
— RNttt
©9-3= 204 =loy - = 00 o] 5 50 el 0] eo] 7dl 8270 oo
Add or subtract these objects, ¥ - @® - L dox 10 = |, 3. x 10 =
then write the equation 3+ 2 = 5 ‘ o -
ETLE T L 9x10=D w UxlO=
4+ ER = 5 10 x K 6 2 x 10 =
o r@dWIlo= | s 8x10=
. &x10=_ |0 7xI10=__
: Write in the missing
multiplication facts.
LI0x =60 2  x10=20
s xlo=70  «l0x =50
H&4 s10x =90 | ¢«  x 10 =30
AGH Write these number @
Ak words as numerals. At
I - = 12. - = ! nineteen =
2 fifty-eight =
B 5 + 2 + &8 = M 6 + 4 + 5 -
_— 3 twenty-two =
If you have 315 and spend 36, how = —
much money do you have left? 5 ;\ u eighty-five =
IS, - = NS 5 ninety-one =
QO —
6.  Colour in half of these shapes. N [ J
(3T 19 22 58 85 9l

AWS
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13

Class:

Write in the missing numbers as you count in I's,

3” 32’ 14 14 14 36’ _ 39’ LIO’ 14 14 14 L{L{! L{57 _y — L{8
E Counting in I's, write the Write these ( )
number that comes numbersinorder | 50 4 99 38 85
before and after.. = from smallest to
largest. up 77 21 42 15
29+ u8
? 34 : do RN WY
E Add or subtract these numbers. J Skip counting ant! multiplying.
Use the numberline to work out the answers,
L 5 + 3 = 2d+d=_ 10002 = Examfile: 2+ +2+2+2=5x2=10
—— ettt -+
“«8-5=_  sd+ =@ (¢ - 6=da [L]2)u]6] 5]l 0]
Add or subtract these objeci: B + & - 15 x 2 = W22 x g =
then write the equatich. 3+ 2 =45 - § -
= | y Y 4 J.Qxé,-__ u.3x,?-_-_
| |
smeE + BE = 5. 8 x( 2= 62 x| =
5 \ ) |
E'] ) QixA0 = 8§ 7 x 2 =
Pt Fm & % = 902 x 2 = . Q2 x U =
| R A S AG -
V&VX ,yﬁ& 27 Wl Write in the missing
i\ 7\ m%g + ‘ B 5 \“’”{@{ multiolication facts.
vaYL. | ¢ v N vYeY . 2 X = 6 2. x 2 =10
p W’Qﬂ_ Lk = s x5=10|+«5x =35
‘ VAORS T A
o Q - ‘ /~;‘$7§?;:1;f1¥ g {‘;;;«M‘;;:«; - 5 10 X_: 20 6 X 10 = 70
| S Lol Write these number @
W o CACASH words as numerals. o
L - = 2. - = L forty-seven =
2 sixteen
o3 + d + 7 = w5 + 5 + 2 = —
3 fifty-five =
If you have 37 and are given 38, —
how much money do you have ? Y seventy-four =
IS, + = 5. sixty-one =
Ié. Colour in half of these shapes.  —— — [ 16 y7 55 6l 7u ]
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£

14

Class:

Wrife in the missing numbers as you skip count in 2's.

u2,ud, , ,50,52,

14

14 14 60’

_—y — 66! 68’ 14 14

Skip counting in 2's, write the

Write these
numbers in order

6 68 2 86 ud

number that comes
before and after ... from largest to

smallest. 79 ©39 5y 100 23
l. 30 2. L{8 .
’ Sy . 66 P\ A2FNR. % 2

B - ' 2P , L

Add or subtract these numbers . Ny Skio counting andéultiplying.

Use th ber ihatawork out the answers.

L + 6 = 27+ 1= 328 a08= SEXGEE,Z',-" er5+5 g?s%:gxagaers
— Rt
©9-0= 28+ =la (17 = 3 0051 152025 30] 3 fus o0

Add or subtract these objects, W @® = L Ux 5 = | Sx | =
then write the equation "3 o+ 2 = & ‘ -
- 3.5)(9:__".7)(5:—
.2 x & 1 «e5x 5=
7. 05 10 = & 3 x 5 =
9 &x 5 = 0.5 x &=

Write in the missing
multiplication facts.

.,?X—:,? -?._X.?'—'Ig
_  x5=5|+«565x =4u5
510x =60 | ¢  x10=100

Write these number @
words as numerals. -
I - = 2 - = ! fifty-one

2 seventy-six =

b & + U + 6 = wo |+ 9 + U = -
— — 3 fifteen =

If you have 13 golf balls and lose 8, . —
how many golf balls do you have left? % u sixty-seven =
s, - = 5 thirty-three =

Ié. Colour in half of these shapes.

33 51 67 76 |
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Bk3 Name: Class:
Write in the missing numbers as you skip count backwards in 5's.
80’ 14 14 14 60’ _y — L{57 _y — 30’ 25! 14 14 14 5
E Skip counting in 5's, write the Write these ( 5
number that comes numbersinorder | 27 71 42 65
before and after.. = from smallest to
largest. 5¢ U 96 K7 33
80 : 85 '
3 15 ¢ 30 N\ AR . S A
E Add or subtract these numbers. J Skip counting ant! multiplying.
Use the numbirliwe to work out the answers,
. Q@+ 7 = 2 6 + U = 3 q y = Exampléiio + 10410 + 10 + 10 = 5 x 16 250
—te—t——t—t—t—t+t -+ —
“d0 - 1= sl +__=d (¢ 0= 9¢ [{]10)20]50]40]50]0l[folk0] %] io0
Add or subtract these objeci: B & - L7 x 10 = W20 x 3 =
then write the equatiah. 3 + 2 =45 - § -
" Iy y , X 2 u, X =
A AYA &, e CH "0 —
‘ (@\v C“vy A Y
IN/SA/\ES Do+ A0NE s | xllo="" | sl0x 8=
VAY V. Faain N
@ 0'x9 = s 10x10=_
" & { 905 x 10 = . 10 x 2 =
- WAl Write in the missihg
-+ S multiplication facts.
I. .?X_"—'.?o .?.—X.?: y
o 3 x5=15|u«5«x = 30
- —
5 10 x =10 | e x 10 = 30
[w" o [ _—
“
Write these number @
words as numerals, A
L L forty-six =
2 ninety-nine =
5 + 3 + 5 = mol + & + 2 = 4 —
3 seventy-one =
If you have 9 toy cars and buy 7 more, —_—
how many toy cars do you have? u sixty-four =
3 + = 5. seventeen =

Ié. Colour in half of these shapes.

,/ E‘\\\ ,/ E‘\\

[/7 y6 eu 7l 99]

N2
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£
Bk3 Name: C’GSS.’

Wrife in the missing numbers as you skip count in I0's,

lo,20, , ,%.,60, , , ,loo, , ,130, , , 170

Skip counting in 10's, write the Write these ' |
numbersinorder | 39 64 & 78 Ul

number that comes
before and after ... from largest to
smallest. 19 095 83 26 56
' (7o) 2 50 ' "
9 ¢ 170 P\ A2re. % 2
- ) L
Add or subtract these numbers . Ny Skio counting andéultiplying.
Use the numb et k out the answers.
L 2 + &8 = 2.0+ 9 = s 10 0 = seEx?Jr:pl e(+2+ :/??r+??u=§x;r='loers
— Rt
©9-l=_ 254 =B (575 =3 9ol lle] s]o] =i} 5]
Add or subtract these objects, ¥ - @® - L €'X & = € ~ . x U =
then write the equation "3 o+ 2 = & ‘ -
32 x 8 = ‘ . 9 x 2 =
L 44 & -
BAS 4 -
?%j 5 10 x & e 2x 3=
v
7 RN D = s I x 2=
9 9x 2 = /o.,?x7-_-_
. Write in the missing
E multiplication facts.
L2x =M |2 x2=28
5 x5=25 «5x =40
5 10 x = yo . { 10 = 90
Write these number @
words as numerals. —
I - = 12 - = L eighty-eight =
2 thirty-one =
| + 6 + U = w7 4+ 3 + 5 = -
— ) thirty-nine =

If you had 15 blocks and lost 7, how

many blocks do you have left? . thirteen =
I5, - = 5. ninety-three =
16, Colour in half of this shape. [ 13 3l 37 88 73 J
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Name: Class:
Write in the missing numbers as you count in I's,
L{6’ L{7I 14 14 !5I’—!—! 5'.{’ 55’—!—!58! 14 14
E Counting in I's, write the Write these )
number that comes nunbersinorder | 47 U6 89 2d 73
before and after.. = from smallest to
largest. 37 93 12 53 3
- 50 2 35
3 6q u, L{L{ N\ AR, O 2
E Add or subtract these numbers. J Skip counting ant! multiplying.
Use the numberline to work out the answers,
. 7 + 0 = 2 3+ 7 = 3 10 3 = Exampléi5+5+5+5+5+5=6x5 %30
—t— ettt -+
©9-9-= 8+ = (s -7 =20 [1]50]s]20]25]30]Fs 0w S0
Add or subtract these objeci: B + & - g x 5 = W25 x 8 =
then write the equatich. 3 2 =45 K -
Dy N 35 x 27 vl x5=
5 10 x| Bo= &« Sx 7 =
) X 6 = 8. 5 X 5 :—
sod x 5 = 0. &5 x 3=
Jall Write in the missing
multiplication facts.
LR2x =16 | 2 x2 =12
s x5=20]«5x =50
s510x =80 6  x10=50
Write these number @
words as numerals. g —
! fifty-six =
2 eighteen =
3 Sixty-six =
If you have 9 golf balls and find 5 more, —
how many golf balls do you have? . eighty-one =
15, + = S. Six fy -five =

Ié. Colour in half of this shape.

56 65 66 8[]
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6

Bks Name: Class:

Wrife in the missing numbers as you skip count in 2's.

62’—! _— 68’ 14 14 14 76! 78’—!—! 8'.{’ 14 14

Skip counting in 2's, write the Write these [ |
numbersinorder | §7 3| | 6l 20

number that comes
before and after ... from largest to
smallest, I8 097 82 u3 70
! Ué 2 88 . J
52 ¢ 6y A2 . % /A
. , y
Add or subtract these numbers . Ny Skio counting andéultiplying.
Use th berlhatawork out the answers.
L3662 28+0= 110 ws e | Selenmberlmuano e saers
— RNttt
wlo-8=_ 50+ =ld {175 =401 0] 55 0]u0]s0]0] 7l s s0lioo
Add or subtract these objects, ¥ - @® - L gox 10 = |, IO x 2 =
then write the equation 3 0+ 2 = 5 ‘ T -
4 - :*3.I0xI=__\'»3XIO=_
5 9 x K ¢« 10x 6 =
o 5= | 5 8x10-=
= o Pxl0=__ |0 l0xI0=_
A¥A —
7% Write in the missing
Ve multiplication facts.
AVAV
\ 7\ 2 x = 8 2 X 2 =16
4 s x5=3|«5x =15
s510x =60 ¢ x10=90
Write these number @
words as numerals. g —
I - = 12 - = I thirty-eight =
2 seventeen =
B 8 + 2 + 9 = w 6 + 5 + 5 = -
3 eighty-three =
If you have 16 bisc uits and eat 7, & o= —
how many biscuits do you have left? g 1< /e = W forty-four =
i - = | 5 seventy-one >
Ié. Colour in half of this shape. [ 17 38 yy 7/ 83 J
AWS
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Wothsheat

Name: Class:
Write in the missing numbers as you skip count in 5's,
5! Ior—r—r st 30! ’ ’ r50r 55r—r 65r—r—r 80,_,_
E Skip counting in 5's, write the Write these

number that comes
before and after ...

ary

numbers in order
from smallest to

Il U8 60 8l 28

largest. gl 75 6 55 30
L35 2 65 «
3 80 u q0 '\ 2R S A
E Add or subtract these numbers. J Skip counting ant! multiplying.
Use the numberline to work out the answers.
. O + 10 = 2 9 + | = 10 y = Exoifipie: 5+5+5+5 =yx5=2
, —t— e t——t+—t—t+—tt -+ —
©9-6=_ s+ =40 (e -6 =4 [1]5 0] i5]20]25] 3054045 50
Add or subtract these objec: By + & - 18 x 5 = W25 x 3 =
then write the equatiah. 3 + 2 =45 - § -
e y N 6 3 85 x Y ; « | x 5 =
L o ‘ | | ? 5 —
HEE - EEE = 5 9 xB8s | 65 x35=
BEE N X6 = | s2x5=
700x 5= |0 Sx7 =
Jall Write in the missing
multiplication facts.
LR2x =18 | 2 x2 =16
5. x5 =25 « 5 x =4do
510x =80 ¢  x10=4d0
Write these number @
words as numerals, o
L forty-eight =
2 fifteen
3 eighty-four =
If you have 9 cards and pick up 8, —_—
how many cards do you have? . twenty-two >
15, + = 5 fifty-one =

Ié. Colour in half of this shape.

15 22 us I &1]
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Class:

Wrife in the missing numbers as you skip count backwards in 10's.

170, 160, 150, _, , 1o,

14 14

, 70,

9 — 9 '-{0, — s — Io

Skip counting in 10's, write the
number that comes |
before and after ...

C

Write these
numbers in order
from largest to
smallest.

29 66 2 84 UO

52035 98 7d 10

- 130 * Wo
70 100
E Add or subtract these numbers.
L7 +3=_ 29+0=
“w 10 - 9 = 5 3+ =17
Add or subtract these objects, h
then write the equation 3

-y
R Ship counting andihultiplying.

Use the number

work out the answers.

-

s 9 = | Example;J0n10+10410+10=5x10=2
— R+
78 = 2 |95 0] 8] 30] o] 50] 60 7d{ &1 0 [iod
@
‘*@: "-l-.XIO=_»'cX.?=
+ 2 = 5
Y 5 10x 9= " 8x10-=
5 7 x K | e 10 x 10 =
) l-_-_ s 6 x 10 =
. ox10=_ | 0l0ox 3 =

5\
- -
:

Write in the missing
multiplication facts.

by

L2 x =M
— 7 — |+ x5=20
o 510 x =100

.?.—X .? :.?O
«wb5x =35
¢ x10=70

4
i

12 - = L eighty-one
2 seventy-eight =

m 9 + 10 + | = ved
3 forty-four =
. eighty-seven =
5. eighteen =

13.

3+ 5 + 5=

If you have 17 lollies and give away 9,
how many lollies do you have left?

15. -

Write these number
words as numerals.

N

lé.

AWS

Colour in half of this shape.

18 w78 & 87|
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Name: Class:
Write in the missing numbers as you count in I's,
L{5! 14 14 14 L{q! 14 14 14 53’ 5'-{’ 14 14 14 14 59 _
E Counting in I's, write the Write these

number that comes

\ golf balls do you have left?

29 - =

Adding money.  rxample: 320 + 350 = 370 or 360 + 320 = 380

. 310 + 330 = 5. JdO + 320 =

32 + 320 = BU0 | B30 + = 350

AWS

numbers in order

17 78 59 91 30

before and after.. = from smallest to
largest. 83 65 26 M U3
L35 277 '
3 19 y q0 a2l AV
E Adding or subtracting numbers. xample: 12+u= e Wumplyfhg by 26,50 or 10s,
ogtit, | 257 (2.44:6,5,10,12, 1,16, 18,20
e~ | S| 50 5 10,15, 20, 25, 30, 35, W5, 50
(][22 4](5 6 7] e [0 I 41)12] 3] 1 5]l 17 o) D 0@% NG, 2,10, 50, 0, 780G 05
I, ”+I:— .?,6+5:_ ‘7)}+I:__I'.' Q:— 2.4 ‘3:—
w 7+ d = s+ 2 = 6« § + 3 = 1310 x 6 = > X 2 =
3+ 1 = |8 9 5 e B+ s s 9x 5= e lox 2=
/o.II-I:_‘I..é 5:_/.?.'? ,:_z.?xf:_&SxLl:_
7 - d =0 (IR -2=_"1s8 -3 = & x2=IM |o.5x =25
6. 13 | = | g -2 3 13 - 2 s> o x =30 |2
0 e V= b N =y a9 Write in the missing
- A - division facts
2 3 - = 2 € 55 - = 3 v af o= 2
LR+ 2= |26+2=
5 | + 3+ Lo 2 5.5 | =
E— J 3.8.-'3:_#.’8.—'3:—
2 * [T =
>+ 3+ 7 #S = s 16+ 2= |62+2=
If you have 39 and are@iven By, low ] ]
much money do you have: 720+ 2 = |8 M+ =
28, + = g U—Q:_ 10. IO.—',?-_-_
i Colourin'/, of
If you have 16 golf balls and lose 7, how many this shape.

Write these number
words as numerals.

twenty-five =
fifty-two o
seventeen 5
seventy-one >
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€
Name: Class:
Write in the missing numbers as you skip count in 2's,
30’ 14 14 14 14 Llo’ L{Q’ 14 14 14 50’ 14 14 14 58’ _

E Skip counting in 2's, write the Write these

number that comes numbers in order
before and after ... from largest to
smallest. 32069 15 80 uyy
! 58 2 18 ,,
. do , 26 P\ 4. .42
E Adding or subtracting numbers. Example: 12+u=16 :Mulh;olyfhg by 2's, &'sor 10's,
oglic | 257 201651012, 1,16, 18,20
e~ (S| 515 5. 10, 15 20, 25, 30, 35, U0, U550
B[+ [2]3](4][56][7)[&)[o | REt1)12]f13]a] [15] ey el E %%_,o_ N, 0,20, c0, 0, o
I.IL{+I:_.?.6+6=_‘3.I3,‘-3:_ ,.8)(3:_.2.,’)'.1-_-_
cU+ 5= s Me 2 W8 e SN 5 x 0= INxio=
75+ | = s 9 +03 (=l e M+ 3= (5 6 x 2 = Sx 7=
oo - 1 = @ -0 = | Is-"3 = |7 10 x s3I x2 =
7 - 5 = ¢ - 2 = ‘ o -y = e £ =20 o 10 x = 60
6 15 -C = qg - 2 =9 s I - 3 = X = 8 R X 5 =10
19 + 122 |o + 2'=5 |a + | y ’ Wrife'/:ntfhemisshg -
— y — division facts
2 5 - =y 3 = 3 |u 60- u
— | — A 2 120+ 5= |210+5=
25 3 + 2 Ay 2 & +°2 o = 3.30._.5___— L,.,_(5,—'5-_-_
+1+°?+?+ =7 5./5.—'5:—6.35.—'5:—
If you have 7 cards and piCiup 6, how 740 =+ 5 = 5825+ 5 =
many cards do you have: - -
9 5 + 5 = 050+ 5 =
28. + = /— —
/ . Colour i f
If you had I blocks and lost 5, how many ! Th%?;, a'; e/5 °
. blocks do you have left? '
‘, ., _ Write these number @
' B = words as numerals. y—
Adding money. Example: 320 + 350 = 370 or 360 + 320 = 380 eighfy-one =
30 + 30 320 + 350 ) thirty five 7
30. + = 3l + = —
— — |3 eighteen =
32 + B0 = 360 | BlO + = 350 |, fifty-three =
AWS

93 8 81 76 27
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Class:

Write in the missing numbers as you skip count in 5's,

14 14 !Qo! 35! 14 14 14 !50!—! 60’—!—! 75’—
E Skip counting in 5's, write the Write these )
number that comes numbers in order 19 95 ey U7 86
before and after.. = from smallest to
largest. 3 71 22 58 3
' 15 2 25
’ Jo . 50 RN WY
E Adding or subtracting numbers. xample: 12+u= e Wumplyfhg by 26,50 or 10s,
ogtit, | 257 (2.44:6,5,10,12, 1,16, 18,20
e~ | S| 50 5 10,15, 20, 25, 30, 35, W5, 50
B0 (203 4][5 (6] 7 e o R 1112l 12 1a] s e o] D "@% LN, 2,1, 50,60, 1P 100
LIS+ 2= 27+ 6 = "i;+l=__l'. l S = | xS =
IJ.8+5:_5.ILI+L’:_ 6.q+d:_3,?xq:_ 3X5:—
15+ 3 = |8 7 6+ £ 0|5 10 x 0= e 2 x 7 =
o 15 - 2 = ‘I.. / 6 = |e '4 = 5 x 8 = & U x 10 =
3 & - &5 = _|lv I - L{:__I/S. 7 - L{:_'_Xlo:go lo.,?x_:é
6. 15 p = | ] -7 5 16 - 2 = | 5 x = uys |
- - _ z Write in the missin
G 2 K- ? & division facts 7
2 &5 - = 23 7 - = 2 |u = 5
- - p L30+F10 = 1270+ 10 =
25 3 + ¢ +._"7 2 Y903 7:7 s O-'IO:_ U..?OT'IO:_
If you ate 5 grapes anc then 7 more, how 7100+ 10 = 5 80+ 10 =
many grapes did you eat? T T
9 60 + 10 = 0. 40 + 10 =
28. + = T —
. I i
If you have 17 lollies and give away 9, how ! g%z;r a’; e/ o of
many lollies do you have left? )
2 ) _ Write these number @
' - words as numerals. —
Adding money.  Example: 320 + 350 = $70 or 360 + $20 = 380 ! thirty-one =
2 forty-six =
. 330 + B0 = 5. 310 + 350 = ) -
— — | sixty-four =
32 + 320 = 350 |13 BdO + = 370 " thirteen N
AWS
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e
Bk3 Name: Class:
Write in the missing numbers as you skip count in I0’s,
o, , , ,5, , ., ,_,loolo,__, ,_,b150, 160,
E Skip counting in 10's, write the Write these
number that comes numbersinorder | 37 99 5 68 16
= before and after .. from largest to
smallest. 5002 87 23 |
l 30 2. 50 . ,
70 N 90 AN N
E Adding or subtracting numbers. Example: 12+u=16 :Mum;olying by 2's, &'sor 10's,
o gt | 250 21651012, 116,120
e~ | S| 55 5. 10, 15 20, 25, 30, 35, U0, U550
B [2)(5 4[5 (6 (7][s o E 111213 14] 15 o | s D %,%L_,o_ N 0,50 0,70, o
I.I7+I:_.?.8+6=_‘3.'51-Ll:_r.ux)=_2.5'.[=_
© G5 |sl6+ 3 A G4 6 = SN0 G = TNOx 2=
r 17+ 2= |8 8+07 (= |98+ = (s 10x 5 = I0x 3 =
/o.I7-I-_-_u.\-)-_-_/.?.I;,-‘(__z.?x _8.3x5-_-_
/3-‘]-5=_ J-3=_‘ ‘7-6:_ N 7 =18 10.5)(_:35
6. 17 -CQ= "\ 8 - Zus" 18 - | = o I0x =100 |2 x 2 =12
A : ) Write in the missing —3,%
i+ 16 2t QT AN division facts =K
2 7 - = | 122 6 =2 |u 8o-
B — B ) I.Ll.—',?:— .2.!.{0.—‘5-_-_
5. = . =
= U+ ) = U4 p R N N TR R
NN\ Y 525+ 5 = |al00% 10 =
If you have " golf balls dlidifind G more, how 7 2+ Q2 = 5 15+ 5 =
many golf balls do you have’ — -
9 4o + 10 = o 10 + 2 =
28. + = — —
. lour in’'
< Ifyouhave 3ll and spend 35, how ! ff:?s?s(;zra,;e/g of
much money do you have left? )
29 - = Write these number @
' - words as numerals. =
Adding money. Example: 320 + 350 = 370 or 360 + 320 = 380 I ninety-two =
2 sixteen =
. 330 + 330 = . 360 + B0 = ) —
— — | 3 sixty-one =
) + B0 = 370 |» 320 + = $30 |, twenty-nine >
AWS
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25

Name: Class:
Write in the missing numbers as you count backwards in I's,
70’ 14 14 14 66’ 14 14 14 14 6” 2 59’ 14 14 14 55
E Counting n I's, write the Write these ( )
number that comes numbersinorder | 88 7 U6 2 63
before and after.. = from smallest to
largest. Iy 52 79 95 39
! ys 2 29 |
: 380 . 62 RN WY
E Adding or subtracting numbers. xample: 12+u= e Wumplyfhg by 26,50 or 10s,
2s: (2,146 8 10,12, 4,16, 18,20
——t—t—t—+—+—t+—+—+—+—+—+—+—+——++ ————> 55 5, 10,15, 20, 25, 30, 35, Whui5, 50
B[+ [2)3](4][56][7][&)[o REt1)[12]f13][a] [15] 4 7 el E LN, 2,1, 50,60, 1P 100
LIS+ 5 = |2 8+ 8 = ‘vi;+l-l=__"~ 10 = 2.8 X3 =
w 9+ 7 = |5 17+ 3= 6.q+8-.-_35x9=_ 2 x 10 =
7I8+,?:_8.q‘(:_q.lq+,‘.'_5. X.?:__é.SXLl:—
o 15 - 5 = ‘I.. . 8 = |2 '4 = |z 10 x 5 = & 2 x 2 =
9 - 7 =0 (i I7-3:__|/5.7-8=_r_x5-_-5 o. 10 x =580
6. |18 2 = | qg -7 8 19 - | =& 2 x = R X 5 =30
19 + =7 |o +0 =8 |a + o= Wrife'/:ntfhemisshg
_ h - division facts
2 8 - = 70|z - = M 8 = 5
— ) y— 130+ 5= |230+10=
25, 5 5 s 26 a5 =
<2 + + 9 / 573,[6,—‘3-_-_ “w20+ 5 =
Db 8+ U T s 560+10= |6 6+2=
If you have 9 toy cars'anetbuy 9 more, 780 + 5 = 5 80+ 10 =
how many toy cars do you hidve ? - -
9 |12 + 2 = ouys5+ 5 =
28. + = /— —
. Colour in /s of
P, e If you have 17 bisc uits and eat 9, ! this shape/.s
LAY how many biscuits do you have left?
b7 _ Write these number @
% B = words as numerals. ppa—
Adding money.  Example: 320 + 850 = $70 or 360 + $20 = 380 ! eighty-two =
$10 $60 $70 20 2 fourteen =
30. + = 3l, + = -
— — |3 twenty-eight =
32 + 350 = 380 |» B350 + = 370 |, forty-one =

AWS

Copyright ©,00s AWS Publications Ltd



a&n iy Loyl

26

Wothsheat

e
Bk3 Name: Class:
Write in the missing numbers as you skip count in 2's,
14 14 14 L{6’ ng’ 14 14 14 14 58’ 60’ 14 14 14 68’ _
E Skip counting in 2's, write the Write these
number that comes numbersinorder | 69 20 |2 SU 96
= before and after .. from largest to
smallest, ug 75 33 L 87
- 16 * 22 /
; yy : 30 AN R  JNY

E Adding or subtracting numbers. Example: 12+u=16

ogtin | 250 20.6.5.10,12,14,16,18,20
e~ | S| 55 5. 10, 15 20, 25, 30, 35, U0, U550
B [2)(5 4[5 (6 (7][s o E 111213 14] 15 o | s D %,%L_,o_ N 0,50 0,70, o
/.II+I=_3.C]+C]=_‘3.IC]1-I=_,I(,xj-_-_z.lnft-_-_
© 6+ 5= |s12+ 1 3 0948 = S\ 2x 6= (TNx5=
28+ 2 = |s 7 + =l |2 R+ 2= 5 7 x10= " 2 x 3 =
o, 13 - | = | h S = | li-"3= |7 5 x s 10 x 10 =
3 & - 3 = 9 J - Q = ‘ o - 8 = q. P\ 0 = qo Io. ,? X—: I6
6 16 -Cd o= 7 9 - 2us" sl - | = ol S x =15 |2 x 10 =40
A . ) Write in the missing —3,%
n__+1EE o gt T 2_gt b J division facts A,
2 8 - =0 ) =4y |u Jo-
— | — b 3 120+ 2 = |235+5=
2 5 + | m-_ze.l.l-;" o = . 50 10 = . 8§+ =
ot O+ 7 478 + =7 5.I0.—'5:—6.70.—'I0:—
If you have 38 and are ¢ivén. 35, how 718 + = s 5 + 5 =
much money do you have ? T T
9 10 - 10 = o. Y + 2 =
28. + = — —
i Colour in'fy of
If you have M golf balls and lose 8, how many this shape
\ golf balls do you have left? '
., _ Write these number @
' B - words as numerals. =
Adding money.  Example: 320 + 350 = $70 or 360 + $20 = 380 ! twenty-seven =
2 fifty-one =
. 350 + 330 = 3. 320 + 370 = —
— — | 3 seventy-two =
32 + 350 = .#60 33. 3'—’0 + = .#80 " fiffeen Y
AWS

: Multiplying by 2's, &'sér 10's.
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B Name:

ol Worksheat 2]

Class:

Write in the missing numbers as you skip count in 5's,
SJQ ’ r3i——ﬂﬁr

14 14 14 14

14 65’ 14 14 14 85’ qo

E Skip counting in 5's, write the Write these

= blocks do you have left?

29.

Adding money.  rxample: 320 + 350 = 370 or 360 + 320 = 380 l nineteen =
2 forty-three =
0. 320 + $60 = 5. 350 + JdO = )
— | s ninety-one =
32. + .#70 = .#80 3. «#30 + = 370 u fhirfy-four =
AWS

9 53 34 97 28

number that comes numbers in order
before and after.. = from smallest to
(arges?. 79 85 Il 46 U2
- 20 > 50 '
: 65 . 85 W AV
E Adding or subtracting numbers. xample: 12+u= e Wumplyfhg by 26,50 or 10s,
oplit | 257 (2.4:6,8,10,12, 1,16, 18,20
-+ttt 11> | " ‘}‘-’ 5 5, 1015, 20, 25, 30, 35, U5, 50
K 1][2[3](]5](6 7 8] (o |G I11]12] 1] i [1]a 17)e 1] ER "@% LN, 2,1, 50,60, 1P 100
13 + | = |2 9 + 7:_ ‘7 17+ :__I'. d Q:— 2. & 5:—
w &+ 3 = |53+ 2 = 6 § + & = 30 x U = 7 x 2 =
716+ U = |8 9% 0 5 o W+t £ 0|5 8 x 5= e l0x 9=
/aB-j:__MB 7i_J25 g:__zQx'ji__&Qx5=__
3 6 - 6 = W | - 2 = 5. 4 - 6 = L&Y 2 =10 |o 5 X_‘—' 50
6. 18 ) = | 7 -ab s 15 - | = | 10 X = 70 2
19, + i =9 |o + 0 =8 |a + 6= G Wrﬁg @’The missing
_ h - division facts
2 7 - = 6 |= - = T 4 = 2
— T — y— L 25+ 5 290+ 10 =
25, 2 . 26, 9 =
7+ RN O— o9 w+2 |usrs5=
-81—'—l+3:7+3"—'7 520+ 10 —6.,?+Q=—
If you have 8 cards arii pick up 6, how 740 + 5 s 4o+ 10 =
many cards do you have 2 - -
9 10 + 2 0. 30+ 5 =
28. + = - —
Il Colourin'/, of
If you had 16 blocks and lost 8, how many this shape.

Write these number
words as numerals.
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Worhshest 28

Class:

Write in the missing numbers as you skio count in 10's,

E Adding or subtracting numbers. Example: 12+u=16

& L L L L L L L L L L L L L L L L L L L L L 3
Y T T T T T T T T T T T T T T T T T ! T T L4
B 71[2][3][4][s][6][7][e][o |M[11][12][13][14] 1516447 [t 1o B

/.I3+3=_2.8+7=_‘3.'5/-5=_
u.6+6=_5.ll-l+.?=_’6.‘]+6=

I8+ | = s 7 +05 =0 |9 15+ 7=
oo - 3 = jn GF -0 = A2 =
B & - 6 = J-.?=_‘b-6=_
6 16 -C3 .= iz 9 - 2= v 16 - | = »
m_ + 859 o 4+ 3 =8 |2+ Udn 7
28 - =5 |k =6 | Ge-
s 4 + 3 O =

2+ 8+ |+ 7 + =

If you ate 6 grapes and Tién. 9 mwore, how

many grapes did you eat!

29. +

If you have M lollies and give away 9, how
many lollies do you have left?

29.

Adding money.  Example: 320 + 350 = $70 or 360 + $20 = 380 ! forty-nine =
2 twelve =
. 360 + Bl0 = s 330 + 360 = —
— — | twenty-one >
2+ 320 = 370 [» 360 + = 380 |, ninety-four >
AWS

14 14 14 Llo’ 14 14 14 14 qo’ _y — IQO’ I30’ _y — I60’ I70
E Skip counting in 10's, write the Write these (
number that comes numbersinorder | 27 65 |6 86 7
= before and after ... from largest to
smallest. 59 38 g3 7! y3
- o 230 |
60 N 110 AN N

: Multiplying by 2's, &'sér 10's.

2s:  2(4,6.3 10,12, 14,16, 18,20 J
5's: 4105, 10, 15, 20, 25, 30, 35, 40, 45,50
105 16,20, 30, 40, 50, 60, 70, &, 90, 100
L3 x 10 = |2 2 lo=
| 5x 6 = B8 xI0=
s Sx 25 205 x 3=
710 x GwEmy s 8§ x 2 =
9.0 K E =d0 |0 10 x =30
o< x =1 j2 x 5 =25
d e <K
L6 2 = 220+ 5 =
3100+ 10 = v 6+ 2 =
5850+ 5 = |6 30+10 =
712+ 2= |sUs+ 5 =
960+ 10 = 020+ 2 =
i Colourin'/s of
this shape.

Write these number
words as numerals.
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& Nubet Tnowbelye Yorksheot  29)

Class:

Write in the missing numbers as you count in I's,

14 73’—!—! 76! 14 14 14

Write these

65; — 9 — 68; 6qr ’ ’
B

Counting n I's, write the

much money do you have left?

29.

Adding money. Example: 320+ 850 = 370 or 360 + 320 = 80 ! forty-five =
$70 $10 $u0 50 2 seventeen =
0. + = I + = R
’ ’ — |3 fifty-four =
2+ 330 = 360 |» 320 + = $70 |, seventy-one >
AWS

5 9 70 83 35

number that comes numbers in order
before and after.. = from smallest to
largest. 286 92 18 M9 67
. 70 2. 3q ;
3 55 . 21 RS A
E Adding or subtracting numbers. xample: 12+u= e Wumplyfhg by 26,50 or 10s,
ogtit, | 257 (2.44:6,5,10,12, 1,16, 18,20
——————————————————————> [ 2" s 5, 10,15, 20, 25, 30, 35, w5, 50
O (1 (2](5 (4[5 (6 )7 (o R 11)[12) 12| 1a] sl a7 fae 1o D 0@% LN, 2,1, 50,60, 1P 100
Ld+ 3= |2 94+ 5 =7, ‘vl’+.?=__l'.” S = | X2 =
v« 8 + 4 = 515+ 2 = 6 8 + 6 =\ x 2 =_¢0 { x &5 =
116+ 3= |59 a6+t £ 0| 8 x I0(= e 2 x 6 =
o. Id - Y = ‘I.. / 7 = |a '5 u=_ |7 x 10 = & | x 10 =
lj.q-le_|l I5—3:__|15.?-5:_'_Xlo:q0 lo.,?x_:_?o
6. 17 / = | /! - 5. 16 - 2 =& | 5 x = 10 R
- - 5= g QA Write in the missing
ot 6 o +Q § | o % ’ . diision facts
2 7 - = 5029 - = u 8 =y
— — y I IO.—‘5=_ -?.50-—'IO=_
25.°?+:+J‘7 % 6079 L’=73.8.—‘.?-_-_u.5.—‘5-_-_
B 7T 5+ QN WS 580 +10=|eI8+2=
If you have 9 golf balls cnd find.7 more, how @\ 735+ 5 = & 10 + 10 =
many golf balls do you have: AN - -
S A 9 Y + 2 = 025+ 5 =
28. -+ = 2 ) — —
. i Colour in'fy of
If you have 3I5 and spend 36, how this shape.

Write these number
words as numerals.
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&% b Liowladz Workshast

30

e
Bk3 Name: Class:
Write in the missing numbers as you skip count backwards in 2's.
80’ 14 14 14 72’ 14 14 14 14 62’ _ 58’ 14 14 14 50
E Skip counting in 2's, write the Write these
number that comes numbersinorder | 77 |0 55 90 4O
= before and after .. from largest to
smallest. 31084 6 6l 25
36 : |
Tod2 N 8 AN N
E Adding or subtracting numbers. Example: 12+u=16 :Mum;olying by 2's, &'sor 10's,
ogtin | 250 20.6.5.10,12,14,16,18,20
> | 2[5 55 05,10, 15, 20, 25, 30, 35, w0, 450
B [2)(5 4[5 (6 (7][s o E 111213 14] 15 o | s D %,%L_,o_ N 0,50 0,70, o
I.ILI+LI:_.?.7+7:_‘3.'5,LL(:_r.jx2=_2.5 /:_
~.7+LI=_5.I5+3=_’6.8+5= "ox7=_ G x 2 =
217+ 1 = s 7 +06 =0 (a6 + 27=( s | x5 =0 10 x 10 =
oo M- 1 = G- = e G-l |7 2 x Bemy s 5x 5 =
/3-6-5=_ J—I=_‘ ‘7-8:_9._ 7 =8 /o.5x_-_-_?0
6, 18 -CD = 7 - U =% v 12 - 2 = | IC x = 50 R X 2 =12
5 = ) A Write in the missing —3,%
A + - + ~ — . + -
n__+ AN PN 6 *__ A J division facts R
2 5 - =2 3 = | |u 60- -
- ! - B ) I.ILI+,?:_Q.I5+5:—
25, | = 26, S 5 =
4o+ 2 ) 7 3 — s 0%10= |«2+2=
- ( .
o+ QM+ 0= sUO+ S5 = |690+10=
If you have 3 toy cars afiii buy ¢ more, 710 + 2 = 5 30+ 5 =
how many toy cars do you htive? - -
9. 20 + 10 = o 16 + 2 =
28. + = o —
. Colour in '/, of
o If you have 12 bisc uits and eat 8, ! Thisshape/.?
£5 5% A how many biscuits do you have left? '
b/ _ Write these number @
2 - = words as numerals, N—"
Adding money.  Example: 320 + 350 = $70 or 360 + $20 = 380 ! forty-two =
2 thirty-one =
. 360 + 330 = 1. 330 + B350 = —
— |3 twenty-four >
32. + .ﬁl-lo = $70 33 360 + = $80 " Thirfeen =
AWS
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Name:

31

Class:

Write in the missing numbers as you skip count in 5's,
14 14 14 14 25’ 30’ 14 14

14 50’ 14 14

’ 70r—r—

E Skip counting in 5's, write the Write these

number that comes

& L L L L L L L L L L L L L L L L L 1 L L A
Y T T T T T T T T T T T T T T T T T T T T L4
B[ 71[2][3][4]s][6][7][e][o M [11][12][13][14] 15| 3] 1718 o] E]

Al + = 2 8+ 3 =4 D+ 5 =
w 7 +85 = |56+ 2 = ‘6.8+6=_
r 15+ 3 = s 9% € |9 13+ g
o 15 - 1 = iGN 2 = el
B9 - 7 =¢ (07 -2 = "5 8- 7=
6 15 5 = |7 8 - s 17 - | =
/9._+.=6 .20._+l=7 3/.__+,,=7
2.4 - =209 - =7 |8 =4
5 5 + A+ L0 % 5 5.6 Y=
7 2+ 5.3 +8-=

If you have 37 and aré Giwen 49 how
much money do you havef

28.

+

) If you have 13 golf balls and lose 8, how many
\ golf balls do you have left?

29.

Adding money.  example: $20+ $50 = $10 or 360+ 320 = 350 twenty-six i

380 + BI0 340 + Buo : elGhly-ene X

3 + = |* * T — eighteen =

32 + ﬁ 10 = .ﬁ 70 33 ﬁa? 0 + = ﬁ 60 u Six fy- two =3
AWS

numbers in order

before and after.. = from smallest to
largest. & 33 1| 36 |6
30 275 '
’ U5 v 10 - \ AR, .4
E Adding or subtracting numbers. xample: 12+u= e Wumplyfhg by 26,50 or 10s,

3% 19 13 39 32

2. 4. 6,8 10,12 1,16, 18 20
5,10, 15, 20, 25, 30, 35, U0, U5, 50
10, 20, 30, 40, 50, 60, 70. 80, 79, 100

25
5:
5

D N T e
30 x 8§ = 7x10o=
5 10 x 2= e 5 x 2 =
710 xwdn= s | x 2 =
@ xS =45 |0 10 x =80
o2 x =18 |2

Write in the missing
division facts

. 4o + 10 = |2 6 ~ 2 =
150+ 5 = [4100+ 10 =
5._.—' 2 =7 6. + 5 =05

7. Whatis '/, of 507

8. If 310 is shared between 2 people,
\‘

how much money does
each person get?

Write these number
words as numerals.
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32

Wothsheat

47
Name: Class:
Write in the missing numbers as you skio count in 10's,
Io’—!—! Llo’ 14 14 14 80’ 14 14 14 14 I30’—!—! I60’—

E Skip counting in 10's, write the Write these

E Adding or subtracting numbers. Example: 12+u=16

& L L L L L L L L L L L L L L L L L L L L L 3
Y T T T T T T T T T T T T T T T T T ! T T L4
B 71[2][3][4][s][6][7][e][o |M[11][12][13][14] 1516447 [t 1o B

/.I.?+I=_2.6+5=_‘3.l71-3=_
u.8+l-l=_5.ll-l+l.l=_’6.‘]+6=
716+ | = s 7 +06 (= |9 13+ 27=(
o - 1 = n -l = RS- =
59 - 3 = J-3=_‘ o -8 =
6. I8 -2 = " & - dus" v 16 - | = &
m + Q2% 3 o+ 1 =5 |2 + 5.7
29 - =8 & =1 |uée- =3
sy + 54 LB, %l 40 ES=
5.+ 7/ + 6 + M + 0 =

If you have 9 cards and iciup 6, how
many cards do you have

28.

+

If you had Il blocks and lost 7, how many
.. blocks do you have left?

29 - = words as numerals.
Adding money.  Example: 320 + 350 = $70 or 360 + $20 = 380 twenty-one =
2 sixty-five =
0. 350 + 330 = 5. 310 + 390 = , .
— | s fifty-six =
32. + 380 = 390 |» 370 + = 3100 " twelve =
AWS

number that comes numbers in order
= before and after .. from largest to
smallest.
' 20 2 50

63 75 68 72 6d
71067 78 60 76

: Multiplying by 2's, &'sér 10's.

2s:  2[1,6.53 10,12, 1,16, 18, 20 J

5's: 4105, 10, 15, 20, 25, 30, 35, U0, 13,50

106 16,120, 30, 40, 50, 60, 70, &0, 9, 120
La6 X 5 = |2 10%55,=
’ 2 x 5 = (3 x 5 =
5 6 x10 s > 102x 8=
85 x s 2x10=__
9.0 KW =20 [0 2 x =6
noSrx = 5 R x 10

Write in the missing
division facts

12 + 2 = |2 20+ 5 =
16010 = |020+2 =
5. + 10 = 6. + 2 =065

7. Whatis'/, of u?

8. If 330 is shared by 5 people, //‘/
how much money does | @
each person get? <k

Write these number
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Name:

33

Wothsheat

Class:

Write in the missing numbers as you count in I's,

14 14 87’ 88’ 14 14

75! —_y— 78’ 14 14 14 82! 14 14
E Counting in I's, write the

Write these

& L L L L L L L L L L L L L L L L L 1 L L A
Y T T T T T T T T T T T T T T T T T T T T L4
B[ 71[2][3][4]s][6][7][e][o M [11][12][13][14] 15| 3] 1718 o] E]

If you ate 8 grapes and then Snore, how
many grapes did you eat?

28, +

If you have I5 lollies and give away 7, how
many lollies do you have left?

29. -

Adding money.  rxample: 320 + 350 = 370 or 360 + 320 = 380
. 310 + 370 = 5. 380 + 320 =
32, + 3O = 360 | B350 + = 3100

LR+ 2= |26+ 6= 4o 2+ | =
« 94+ 8= |s M+ 2= ‘6.8+5=_
r 17+ 1 = s 9% & s |9 13 +45 £ 07
o I3 - 1 = I8 3 = e L=
5.9 - 9 =¢ (ol - d = s 7 - 6 =
le. 16 W= |\n 7 -7 B 18 - | =
9. 4+ & =5 0.+ /= 8 3/.__+,,=’,’
2.6 - = dO L6 - = u 7 _:I
5 Q2 + W+ S 2 5,309 5=
il v 6 + 9.8 +U =

98 62 65 9u 66

number that comes numbers in order
before and after.. k&= from smallest to
largest. 6. 90 97 59 942
&9 > 60 «
3 33 “ yl \ AR, O A
E Adding or subtracting numbers. xample: 12+u= e —.J Multiplying by 25,55 or 10's.

25: (2.4.6,810,12,14,16,18,20
5400, 5, 10,15, 20, 25, 30, 35, U045, 50
's: 10, 20, 30, U0, 50, 60, 70 60, 0, 100

LA 2= |8 Xl =
300 x 8 = T x2=_
s 10 x 5= e lOox | =
7 A XF=" |8 7 x5 =
¢ X2 =4 |ob5x =30
0 x =60 |2

Write in the missing
division facts

L Y5+ 5 = 230+ 10 =
1 & = 2 = |« 10+ 5 =
5. =5 =y 6. =10 = 6

7. What is /s of 30?

5. If 360 is shared by 10 people,
how much money does
each person get?

P

gi;ﬂg

Write these number
words as numerals.

! sixty-three =

2 fifteen >
; fifty-one >
¢ thirty-six >

AWS
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&% b Liowladz Workshast

34

Class:

Write in the missing numbers as you skip count in 2's,

14 14 66!

14 14 14 14

’ 76r—r 80r—r—r 86r—r—

E Skip counting in 2's, write the Write these

E Adding or subtracting numbers. Example: 12+u=16

& L L L L L L L L L L L L L L L L L L L L L 3
Y T T T T T T T T T T T T T T T T T ! T T L4
B 71[2][3][4][s][6][7][e][o |M[11][12][13][14] 1516447 [t 1o B

/.I5+I=_2.7+Ll=_‘3.16/-3=_
u.7+7=_5.l8+.?=_’6.‘]+7=

rd+ 3 = s §+03 0= |9 15+ 2=
o 12 - 2 = 1§ -0b = |k -3 =
59 -5 = ¢ J-.?=_‘6-6=_
6. 17 -C3. = |7 8 - Sm=" y -1 = &
m + 3285 o +6€6 =9 |2 + 5.6
2.7 - =4 o =2 |G- =d
2 3 + | B 2 2 +°Z | =

f+ 4 + 6 + 8 +

If you have 7 golf balls dindifind more, how
many golf balls do you havas

28.

+

If you have 312 and spend $d, how
much money do you have left?

29.

Adding money. Example: 320 + 350 = 370 or 360 + 320 = 80 fourteen =
2 thirty-nine =
. U0 + JUO = 3. 320 + 380 = —
— | 2 forty-one =
2+ 320 = 360 |» B60 + = Bl00 |, ninety-three =
AWS

number that comes numbers in order
= before and after .. from largest to
smallest.
. 52 2 38
© 8 « 70 |

2s:  2[1,6.53 10,12, 1,16, 18, 20 J
5's: 4105, 10, 15, 20, 25, 30, 35, U0, 1550
10 16,120, 30, U0, 50, 60, 70, &0, 96, 100
Lalox 10 = 2 2 fo=
’ 5 x | =  _(uidx 10 =
s U ox 2 = Sx 5=
710 x_ Wem o s I0x 2 =
9.0 K 65 =50 |0 10x =10
I o X = 10 R

20 Ul u8 26 U3
2945 2y U2 23

: Multiplying by 2's, &'sér 10's.

’ Write in the missing

division facts

L8010 = 218+ 2 =
.. 36+ 5 = |d 50 + 10 =
5. + 2 =10 |a + 5 = q

7. Whatis'f,, of U0?

8. If 3l is shared between 2 people,
how much money does
each person get?

Write these number
words as numerals.
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35

Class:

Write in the missing numbers as you skip count backwards in 5's.

_y — 70! 14 14 14 50’ 14 14 14 14 25! 14 14 14 5
E Skip counting in 5's, write the Write these )
number that comes numbers in order 70 15 77 I8 79
before and after.. = from smallest to
largest. 17 73 12 A0 74
35 : 15 «
3 70 u, qo -\ AR, .42
E Adding or subtracting numbers. xample: 12+u= e Wumplyfhg by 26,50 or 10s,
ogtit, | 257 (2.44:6,5,10,12, 1,16, 18,20
-+ttt 11> | " ﬁ\-’ 5 5, 10,15, 20, 25, 30, 35, U015, 50
0 ](2][3][4][5][6][7][8][o]RM[11][12][13][14][15]{a5)[17 18] 19| B O\i@’ ‘s 10,20, 30, 0, 50, 60, 7680, 0, 00
LIS+ d = |2 9+ d = ‘v);+l.l=__l'. 8 ¥ 5 = |2 l0x 9 =
« 8+ 8= |s 7+ 2= 7% 8+7=""252x1 = 5x 5 =
7.I|.{+I=_ s 9 3 _9I8+.‘ E XIO=__ 6..?X5=_
o 12 - | = ‘I.. / 5 = |e "y « = |7 5 x = & S5 x 10 =
5 & - 6 = (] I6-3:__|l55-5:_’_XIO:LIO . 2 X =1
6. 13 2 = | qg -2 8 19 - | = 5 X = 25 |-
0 202 g b 4 =5 |l +5=a Write in the misshg
— — B N division facts
2 9 - = 702 - =2 |u8 = 3
— ! — y I.Ll.—',?:_.?.S.—'S:_
5. 3 o A 4 =
BoU A+ A4 S A ! — 100 |eME2=
3 + 6 + & 7 + 22 = 5,_,—‘[0-_-q 6,—+.?:Ll
o |
If you have 9 toy cars'andhbuy 7 more, 7. Whatis /3 of 187
how many toy cars do youhave? 5. If 325 is shared by 5 people,
28 + _ how much money does
' - each person get?
M ow Ifyouhave I3 biscuits and eat 5, . _
‘L5 Yy A how many biscuits do you have left? -
B Write these number @
9. - = words as numerals. =
Adding money.  xample: 320+ 350 = $70 or 360 + 320 = 350 ! seventy-five =
2 ninety-one =
. 370 + B0 = 5. 390 + 310 = ' -
— — |3 nineteen =
32 + $60 = .#80 33, .530 + = .$I00 u fiffy-seven N
AWS
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36

Class:

Write in the missing numbers as you skip count in I0’s,
14 14 Llo!

14 14 14 14

’ qor — 9 — I"?or

, 160

E Skip counting in 10's, write the Write these

E Adding or subtracting numbers. Example: 12+u=16

& L L L L L L L L L L L L L L L L L L L L L 3
Y T T T T T T T T T T T T T T T T T ! T T L4
B 71[2][3][4][s][6][7][e][o |M[11][12][13][14] 1516447 [t 1o B

LR+ = |2 7+5=_‘3.h.l+.?=_
© 8+ 6= |56+ 3= 0l6+5 =
713+ 2= & 9+08= 919+ =
o 1S - U = | G-l = 2 e s
5 & - 8 = ¢ .'-.?_‘b-7=_
6 I -l o= 0z G - Sm=t v 18 - | = &
m_ + 5= 8 |0+ 6 = a4+ 2995
.2.2.6-_:[ % O =4 e o

% 3 + 2 Ly, 262 48 o=

T+ + 249+ 0=
If you have 38 and are given 89, how

much money do you have 2

28.

+

__ Ifyou have I golf balls and lose 5, how many
i\ golf balls do you have left?

29.

Adding money.  Example: 320 + 350 = $70 or 360 + $20 = 380 sixty-one =
2 forty-seven =
. 320 + 370 = 3. 380 + 320 = —
— — |3 seventy-four >
2+ 330 = 390 [» BO + = BI00 |, sixteen =
AWS

number that comes numbers in order
= before and after .. from largest to
smallest.
- Yo > 90
70 “ 120 |

80 W9 87 udu 82
86 U7 us 85 U0

: Multiplying by 2's, &'sér 10's.
25: 2u,6.8 10,12, 1,16, 18, 20

16,120, 30, 10, 50, 60, 70, &0, %¢, ooJ

5': 4015, 10, 15, 20, 25, 30, 35, U0, U550

|_I0S
a8 x 2 = |2 Blkid.=
’ IC'x 6 = (i @2x 2=
s 4 x 5= I0x 2 =
72 x Gwsm o s 10x 5 =
9.0 K T =2 |05 x =10
lgbx =30 |2 x 2 =8

Write in the missing
division facts

125+ 5 = |270+10 =
3 2+ 2 = |« o - 5 =
5, + 5 =10 |e =10 = 10

7. What is'/s of 20?

8. If 380 is shared by 10 people,
how much money does (@
each person get?

Write these number
words as numerals.

Copyright ©,00s AWS Publications Ltd



%@ Wuibat Kaowladaa Worhshays

37

Name: Class:
Write in the missing numbers as you count in I's,
85’ _y — 88’ 14 14 14 qg’ 14 14 14 14 q7’ 14 14

E Counting in I's, write the Write these ( )

number that comes numbersinorder | §7 35 5] 34 55

before and after.. = from smallest to

largest. 38 53 31 39 50
L7 > 83 '
: 76 N 100 AR . O 2

E Adding or subtracting numbers. xample: 12+u= e

& L L L L L L L L L L L L L L L L L 1 L L A
Y T T T T T T T T T T T T T T T T T T T T L4
B[ 71[2][3][4]s][6][7][e][o M [11][12][13][14] 15| 3] 1718 o] E]

LI+ 2= |29+6="95"l+3="
v« 9+85 = |56+ 2 = ‘6.6+6=_
r 17+ 3 = |5 8 S = o ll +4i '
o 15 - | = |7 d = |eys e =
s 7 - 7 =¢ (|0l -2 s g- 7 =
6. Id = |n 9 -3 8 15 - 2 =
9+ = 5 0. + 3 =4 ja _+,=7
286 - =309 - =2 8 =6
B 4 + D+ 2w |59 5=
S5 -7+ L3 5=
If you have 8 cards arii pick up 6, how

~

many cards do you have

28.

+

If you had I8 blocks and lost 9, how many |
.. blocks do you have left?

29. -

Adding money.  Example: $20 + 350 = 370 or $60 + 320 = 380 eighty-six >
2 seventeen =

. 3650 + 310 = s B30 + 390 = , sixty-cight o

2.+ 330 = 390 |=» 370 + = Bloo |, seventy-one L

AWS

J?’iumplymg by 2855 or 10's.

2,16, 8, 10, 12, 14, 16, 18,20
5,10, 15, 20, 25, 30, 35, U015, 50
10, 20, 30, U0, 50, 60, 70 60, 0, 100

25
5:
S

L8 X0 = | dx 3 =
30 x 7 = ''x 10 =
5 9 x 2(=> e S x| =
210 xwFh= s 7 x 2 =
@ xS =uU5 |0 10 x =20
o2 x =20 |2

Write in the missing
division facts

120+ 10 = 1210+ 2 =
5 15+ 5 = |4 q0 + 10 =
5. + 2 =8 6. + 5 =7

7. What is '/, of 70?

8. If 318 is shared between 2 people
how much money does
each person get?

Write these number
words as numerals.
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38

Class:

Write in the missing numbers as you skip count in 2's,
14 14 14 76’ 14 14 14

, 86,88, ,  ,94,__,_ ,

E Skip counting in 2's, write the

Write these

E Adding or subtracting numbers. Example: 12+u=16

number that comes numbers in order
= before and after .. from largest to
smallest.
- u8 > 90
3 6 6 u, 7 Q |

/.I3+I=_2.8+3=_‘3.'51-.?=
U~7+9=_5.ILI+LI=_’6.7+6=
716 + 4 = |5 7 +07 (=0 |2 18 + 7=
o 12 - 2 = |1 @ b = | 9=
59 - 8 = »1-.?_‘6-5=
6. 17 -Cl = "0\ 9 - 2us" v 13 - 3 =
o+ 129 o+ /=8 ja + 2%
29 - =3 mED =0 |u7e-
»s | + 4 L=y 62 46 4 =
2+ + 3+ T+ O =

If you ate 9 grapes and 1hicn 6 riore, how

many grapes did you eat

28. +

If you have I5 lollies and give away 7, how
many lollies do you have left?

29. -

Adding money.  Example: 320+ 350 = 370 or 360 + 320 = 380 ! thirty-two =
2 eighty-one =
. 340 + 350 = 5. 360 + Jdo = —
— — | 3 twenty-three =
2 + 310 = 390 |5 330 + = $ioo |, eighteen o
AWS

& L L L L L L L L L L L L L L L L L L L L L 3
Y T T T T T T T T T T T T T T T T T ! T T L4
B 71[2][3][4][s][6][7][e][o |M[11][12][13][14] 1516447 [t 1o B

96 37 31 9 99
93734 95 38 30

: Multiolying by 2's, &'sér 10,

2s: 2/4,6.3 10,12, 1,16, 18, 20

5's: 4105, 0, 15, 20, 25, 30, 35, U0, U350
105 16,20, 30, 40, 50, 60, 70, &, 90, 100

= 2.

(6]

x 5 10 240

XL{: i, =

x 10

X

»
nh &

Lo 8.

50

o Shx =30

g. ’/'/

12.

’ Write in the missing
division facts
L6 + 2
o+ 10 =
s+ 10 5
7. Whatis'f, of 10?

8. If $u5 is shared by 5 people,
how much money does
each person get?

230+ 5
“ 6 * 2
6._.—‘.?

Write these number
words as numerals.
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Wothsheat

Name: Class:
Write in the missing numbers as you skip count in 5's,
_y — I5’—!25’ 14 14 14 !50’ 14 14 14 70!—!—
E Skip counting in 5's, write the Write these

number that comes

If you have 3 golf balls ane.find 9 more, how
many golf balls do you have:

28.

+

If you have 317 and spend 38, how
much money do you have left?

29.

Adding money.  Example: 320+ 350 = $70 or 360 + $20 = $80 fifty-eight =
350 + 320 320 + 380 ) "hirfeen E’
30. + = 31, + I ;5 eigh Ty-five N
32 + JUO = 390 | 390 + = 3100 | , hirty-one R
AWS

numbers in order

before and after.. & from smallest to
largest. 20 84y 28 B85 27

. 80 > 20 «
35 “_ 95 Ay @ XV -
EAdding or subtracting numbers.  example: 12+ = i€ a wumplyfhg by 2555 or 10's.
s ] [ 250 (2,606,8,10,12,M,16, 18,20
B (t[2]03«][s][6 )7 (8] o R[] )13 re] s g s o B @% les,_3;,'3015;;‘30?2;,,3‘20?5;,";:;‘,’00
L+ = 2 7+ d =g e 1+ = Y& ¥ 2= 29K 6 =
u.7+3=_5.l5+3=_ ‘6.8+8=_310x3=_ > X 2 =
718+ 2 = |5 & W= e 16+ s 3 x 5= e lOox 5 =
0 12 - 1 = |65 = W= |72 X8 |8 9x5 =
& - d = (ol - d = s - 6= | & X2 =12 o Sx =30
le. 16 h = |n 7 -6 B 13 - 2 = |nd0 x =100 |2
9 4+ & =9 o, +5 =6 |2 +u =6 ergivgi::e;‘Qijmg
R A T R R N
% 3 + d+ J %255 8=—3.I.?+.?= 20+ 5 =

WEFl+ 299 6= s = 5=71s +l0=5

8 21 8 83 25

7. Whatis'/s of U5?

5. If 370 is shared by 10 people,
how much money does
each person get?

Write these number
words as numerals.
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40

e
Bk3 Name: Class:
Write in the missing numbers as you skip count backwards in 10's.
14 14 14 14 IQO’—! Ioo! 14 14 !60!—!—! 30!—!—
E Skip counting in 10's, write the Write these
number that comes numbersinorder | 73 58 852 76 70
= before and after .. from largest to
smallest. 54072 79 59 56
- llo > U0 |
? 90 : 60 AN N

E Adding or subtracting numbers.  Example: 12 +u =

l6

/.I5+I=_2.‘]+Q=_‘3.15/-
c 9+ 7= |sim+a="0l"8+
15+ 65 = s &+ = |2 17 +
oo M- 1 = & -0 = IS
57 -85 = ¢ J-.?=_‘b-
6 15 -C3 = |n 9 - Zu=" v 13 -
9.+ 4= 7 0.+ 5 = & a4+
2.6 - =d @mg =5 |u 8-
5 3 + 5 JE 65 496
W+ / + U+ 8 + 0=

If you have 7 toy cars anc buv 7 nore,
how many toy cars do you hiave?

28. +

Ny
g
174

29. -

Adding money. Example: 320 + 350 = 370 or 360 + 320 = 80 I thirty-seven =
2 fifty-one =
. 370 + 320 = 5. 390 + 310 = —
— | 3 seventy-three =
32. + 380 = $90 33, 3'—’0 + = .#IOO " ﬁﬁ-een <
AWS

7]

~N

N n

&M oe If youhave M biscuits and eat 9,
SO Yy A how many biscuits do you have left?

& L L L L L L L L L L L L L L L L L L L L L 3
Y T T T T T T T T T T T T T T T T T ! T T L4
B 71[2][3][4][s][6][7][e][o |M[11][12][13][14] 1516447 [t 1o B

2s: 2/1,6.3,10,12,14,16,18, 20
5's: 415, [0, IS, 20, 25, 30, 35, UO, U3).50
105 16,20, 30, 40, 50, 60, 70, &0, 50, 100
I, 6’(3:_ 2 2 xida=
’ S'x U = 8 x 10 =
s 6 x 2 = e 2x10-=
ZIOX\.._&.’XQ’—'
9.0 K E =15 |0 10 x =50
S 16 R X 5 =25
’ Write in the missing {
division facts
60+ 10 = 1220+ 2 =
;Y5 + 5 = L/.3O.—'IO=_
5._+.?:q 6._.—'5:6
7. What is '/, of 100?
s If 316 is shared between 2 people,
how much money does
each person get?

: Multiplying by 2's, &'sér 10's.

Write these number
words as numerals.
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Worksheet | Worksheet 2 Worksheet 3 Worksheet U
1,2,3,4,56,7,8,9, 2,4,6, 8,10, 12, 14, 5, 10, 15, 20, 25, 30, 10, 20, 30, 40, 50, 60,
A | 10,11,12,13,14,15 || A | 16,18,20,22,24,26, || A | 35, 40, 45,50,55 60, || A |70 80, 90, 100, 110, 120,
16, 17, 18, 19, 20 28, 30, 32, 34, 36 65, 70, 75, 80, 85, 90 130, 140, 150, 160, 17
Il 456 10 12 14 . 510 15 I 10 20 30
2 17 18 19 2 6810 2 60 65 70 2 60 70 80
Bs.u121_ B3.@02_ Bs.@45m B3.@90u
4 89 10 4 24 26 28 4 25 30 35 4, 40 50 60
6, 14, 28, 37, 42, 55, 3, 19, 25, 32, 49, 54, 9, 17, 23, 34, 41, 58, 1, 10, 27, 33, 46, 52,
C 63, 79, 81, 100 C 67, 76, 88, 91 C 60, 75, 82, 96 C 69, 77, 85, 94
. 1+0= I 0+8=8 . 2+0=2 . 3+1=4
2 6+1=7 2 1+1=2 2 4+3=7 2 4+2=6
3 2-1=1 3 2-2=0 3 1-1=0 3 3-1=2
4 4-2=2 4 4-1=3 d  3-2= u  4-3-1
5 2+1=3 5 2+4=6 5 144-5 5 +1-°
6. 5-1=4 6. 5-2=3 ; -720 5-342
7 6+5=11 7 4+7=11 7 swh=12 709%2=11
8 4+8=12 8§ 9+5=14 >+6=11 5+7=12
9 6+5=11 9 2+9=11 9 8+5=13 | 9 8+4=12
Dl 3+9=12 Dl 6+7=13 |\D lo. 7+4=11 D 5+9=1
I, 12-4=8 I 11.4=1 I, 14-645 o1 4
12 11-5=6 12, 12-3=9 12. 120572 12, 427 =4
13, 3+1+2=6 13, 3+2+3=8 13, cA+192=7 a1 -5+4=10
W, 2+1+9=12 e B+ 53 =13 542 +8=15 I, 4+9+1=14
15, $4+$8 $12 15. £ 7/ -5 = 2 golf balls 15, 18+ 5=13cards !
. (TN \ A e L1 g | lé.
A \ A\ /A N e
. Ax2=2 I 7#2=14 . _9x2<48 I 5x2=10
2 2x2=A4 ) Xa=2 3 x2=8 2 8x2=16
3 3x2Z -6 J. 3x2=6 3 Jx2=20 3 6x2=12
Y 4x2=8 | 4 9x2=18 | |47 2x2=4 4 7x2=14
5 5x2=10 Fl5 4x2=8 15 5x2=10 5 1x2=2
E 6. 6x2=14 6. 10x2920 ||~ 6. 8x2=16 E 6. 3x2=6
7 7Tx2%14 7 2x294 | 7 6x2=12 7 9x2=18
8 ah2=16 8a 5x 210 8 7x2=14 8 4x2=8
9 9%2-18 72 Bx2=16 9 1x2=2 9 10x2=20
0. 10%2=20 00, 602 =12 0. 3x2=6 0. 2x2=4
I 2x1=2 L 2x7=14 . 2x4=8 I 2x1=2
2 2x2=4 2 8x2=16 2 6x2=12 2 4x2=8
3 3x2=6 3 9x2=18 3 2x2=4 3 6x2=12
F 4 2x4=8 F 4, 2x10 =20 F 4, 2x10 =20 F 4 2x9=18
5 2x5=10 5 2x5=10 5 2x7=14 5 2x3=6
6. 6x2=12 6. 3x2=6 6. 8x2=16 6. 10x2=20
31 37 33 34
2 54 2 18 2 57 2 15
Gl 13 Gl3 73 G |3 61 G|l 43
4 66 4 55 4 16 4 99
5. 45 5 81 5 75 5. 51
AWS
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Worksheetl 5 Worksheet 6 Worksheet 7 Worksheet 8
30, 29, 28, 27, 26, 25, 22, 24, 26, 28, 30, 32, 5, 10, 15, 20, 25, 30, 10, 20, 30, 40, 50, 60,
A | 24,232221,2019, || A | 34,3638 40,42, 44, || A | 35,40 45 50,5560, || A |70 80, 90, 100, 110, 120,
18, 17, 16, 15 46, 48, 50, 52, 54 65, 70, 75, 80, 85, 90 130, 140, 150, 160, 170
. 25 26 27 . 22 24 26 . 15 20 25 . 20 30 40
2 10 11 12 2 48 50 52 2 10 15 20 2 70 80 90
B 3 17 18 19 B 3 16 18 20 B 3 70 75 80 B 3 100 110 120
u 20 21 22 4 36 38 40 d 35 40 45 4 150 160 170
4,12, 29, 35, 43, 56, 5, 11, 20, 38, 44, 53, 2,13, 21, 36, 47, 50, 7,15, 22, 31, 48, 57,
C 68, 71, 80, 97 C 66, 72, 87, 99 C 65, 78, 89, 92 C 64, 73, 86, 95
I 1+2=3 Il 2+3=5 l 3+2=5 . 3+0=3
2 3+3=6 2 6+0=6 2 4+0=4 2 1+5=6
3 6-2=4 3 7-2=5 3 3-3=0 3 7-0=1
U 7-3=4 U 4-4=0 u 5-0-¢ d 6(3=3
5 1+6=7 5 1+3=4 5 3+ 1=/ 5. 6+2+8
6. 6-1=5 6. 7-6=1 6. z- 4= 6. 15=2
7 6+7=13 7 7T+4=11 7. r8=11 L A7T+5=12
8§ 8+3=11 8§ 5+8=13 g 7+7=14 [ 8§ 2+9=11
9 9+2=11 9 7+7=14 9 6+6=12 || . 4+8=12
Dl 9+4=13 Dl 6+9=15 Do 3+8=11 Dl s5+9614
I, 12-7=5 I 14-942 I 12 =1 Il 1574 S8
2. 11-7=4 12, 1267 =5 12 B-Qudd 120 14-64 8
13 4+2+3=9 13, 0+451=10 I3 .3+2+4=9 T+ T+4=12
Iy, 8+2+6=16 LaT7es+1=11 | ( r6+4=17 \lu. o+8+5=18
15, 7+ 5 =12 carrots ‘ 5. 172 - 3 =9 lollies 157 6+ 7 =13 golf ba 4| 15, $13-$5=$8
l6. < <[ T 16. Er‘ l 16, [ 16
..‘-‘-n;j’.,v l | | | ‘
< e — || ey 4
LA1x5%8 I 3x3=19 | I 10%5=50 . 6x5=30
2 Ix5=10 | 2 6af =30 2m3x5=15 2 7x5=35
3 3u5=15 . 4x5=20 i 34 5x5=25 3 1x5=5
U 4x5=20 4 1x5=5 4 4x5=20 u 3x5=15
E 5 5x5=25 || ) 5 2x5=10 ‘ E 5 6x5=30 E 5 9x5=45
6. 6x5=1D “ |6 9xB=4L 6. 2x5=10 6. 4x5=20
7. TX0=3 7. 8x@H=49 7. 1x5=5 7. 10x5=50
8 Bx5=4p 8. 10%5=150 8 8x5=40 8 2x5=10
9 9x.=45 9N 7x5=35 9 9x5=45 9 5x5=25
0. 10x5=50 0, Bx5=25 0. 7x5=35 0. 8x5=40
| N
Il 5x1=5 I 5x7=35 I 5x6=30 . 5x8=40
2 2x5=10 2 8x5=40 2 1Ix5=35 2 9x5=45
3 3x5=15 3 9x5=45 3 4x5=20 3 4x5=20
F U 5x4=20 F 4 5x10=50 F 4 5x1=5 F 4 5x10=50
5 5x5=25 5 5x2=10 5 5x3=15 5 5x3=15
6. 6x5=30 6. 5x5=25 6. 10x5=50 6. 71x5=35
19 41 | 88 27
2 62 2 29 2 32 2 61
Gli3 22 Gl 17 Gli 12 Gl3 72
4 91 4 14 4 23 4 16
5 26 5 92 5 21 5 99
AWS
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Worksheet 9 Worksheet 10 Worksheet Il Worksheet 12
16, 17, 18, 19, 20, 21, 36, 34, 32, 30, 28, 26, 5, 10, 15, 20, 25, 30, 10, 20, 30, 40, 50, 60,
A | 22, 23,24, 25, 26, 27, 24,22,20,18,16, 14, || A | 35, 40, 45, 50, 55,60, || A |70, 80, 90, 100, 110, 120,
28, 29, 30, 31, 32 12,10, 8, 6, 4, 2 65, 70, 75, 80, 85, 90, 130, 140, 150, 160, 170
I 14 15 16 I 32 34 36 I 20 25 30 I, 50 60 70
2 2223 24 2 810 12 2 45 50 55 2. 140 150 160
B 3 313233 3 14 16 18 B 3 6570 75 B 3 110 120 130
4 25 26 27 4 20 22 24 4 80 85 90 4, 30 40 50
8, 16, 24, 39, 40, 51, 98, 84, 75, 61, 59, 43, 9, 17, 25, 34, 44, 51, 91, 80, 75, 69, 58, 44,
C 62, 74, 83, 90 30, 26, 18, 4 C 63, 76, 88, 92 C 36, 22, 13, 7
| 2+5=17 . 0+6=6 . 1+7=8 . 3+5=8
2 5+0=5 2 2+2=4 2 6+3=9 2 0+7=17
3 7-1=6 3 6-5=1 3 6-6=0 3 8-1=1
d  6-4=2 4 8-0=8 d  9-2=7 4 9-3:-6
5 5+2=7 5 2+6=8 5 742-9 5 H+5010
6. 5-5=0 6. 8-3=5 o 0-841 5, 8-4t4
7 9+2=11 7 6+6=12 7 o6ai=13 7.07%8=15
8§ 6+8=14 8§ 8+7=15 /+7=14 8 5+9=14
9 7+5=1 9 5+7=12 9 7+8=15 9 7+8=15
Dl o9+7=16 0. 9+5=14 |‘D 0. 9+3=12 Do 4+10="14
. 15-6=9 I 13.8=5 I 14-5£9 I 14 408
2. 13-8=5 12, 12-8=4 12, 13067 12. 430&=5
13, 2+5+3=10 3, 4+1+3=8 13, C1+499=14 i 5+2+8=15
M, 9+4+6=19 0 + 3% 7=20 298 +3=13 I, C+4+5=15
15, 9+ 6=15toycars 15. £ 15+ 9 = 6 biscuits 16, 13+ 7 =10 grapes $15-%6=9
6 N N\ @ @ S @
"N N > N &7\
M ] ) 7/
I AXx10=20 I 4410240 I . 5x10%50 . 1x10=10
2 2x10=20 2. Ixes10 J . 4x10=40 2 3x10=30
3 3x10=30 s 2x10=20 3 £%x10=60 3 9x10=90
4 4x10=40 4, 9 x10=90 | 4 2x10=20 4 4x10=40
5 5x10=50 5 8x10=80 15 1x10=10 5. 10x10=100
E 6. 6x10=§ 6. 10x 10°=100 ||~ 6. 8x10=80 E 6. 2x10=20
7. 7x 10570 7. 7x10% i l 7 9x10=90 7 5x10=50
8 810 =154 8a 5x 10 =50 8 7x10=170 8 8x10=80
9. 9x10 20 7 " 2x10=30 9. 10x 10 =100 9. 6x10=60
0. 1010 = 100 10, 6910 = 60 0. 3x10=30 0. 7x10=70
. 10x1=10 - 10x7=70 . 10x4=40 . 10x6=60
2 2x10=20 2 8x10=80 2 8x10=80 2 2x10=20
3 3x10=30 3 9x10=90 3 9x10=90 3 Ix10=70
F 4 10x4=40 4, 10x 10 =100 F 4 10x1=10 F 4 10x5=50
5 10x5=50 5 10x3=30 5 10x7=70 5 10x9=90
6. 6x10=60 6. 5x10=50 6. 10x 10 = 100 6. 3x10=230
. 35 I 14 I 63 19
2 31 2 52 2 77 2 58
Gl 77 3 41 Gli3 12 Gli3 22
4 13 4 66 4 36 y 85
5 53 5 25 5 21 5 91
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Worksheet I3 Worksheet I Worksheet 1S Worksheet 16
31, 32, 33, 34, 35, 36, 42, 44, 46, 48, 50, 52, 80, 75, 70, 65, 60, 55, 10, 20, 30, 40, 50, 60, 70,
A | 37, 38,39 40,41,42, || A | 54, 56, 58, 60, 62, 64, 50, 45, 40, 35, 30, 25, || A |80, 90, 100, 110, 120, 130,
43, 44, 45, 46, 47, 48 66, 68, 70, 72, 74 20, 15, 10, 5 140, 150, 160, 170
. 28 29 30 I 28 30 32 I 75 80 85 . 130 140 150
2. 47 48 49 2. 46 48 50 2 50 55 60 2 40 50 60
B3.Q34g B3.254ﬁ 3 10 15 20 B3.@90m
d 39 40 41 U 64 66 68 u 25 30 35 4 160 170 180
4,15, 21, 38, 47, 50, 100, 86, 79, 68, 54, 45, 5, 14, 27, 33, 42, 59, 95, 83, 78, 64, 56, 41,
C 62, 77, 85, 99 C 39, 23, 16, 2 65, 71, 87, 96 C 32,26, 19, 8
Il 5+3=8 . 4+6=10 . 2+7=9 . 2+8=10
2 4+4=8 2 7+1=8 2 6+4=10 2 0+9=9
3 10-2=8 3 8-8=0 3 9-4=58 3 10-D=10
y 8-5=3 U 9-5=4 d  10-(1=8 o 9L1=28
5 4+5=9 5 8+2=10 5 A+0=C 5  5+4+9
6. 10-6=4 6. 10-7=3 6/ 9:0=9 6. ©5=3
7 9+6=15 7 6+9=15 7. IR T=14 L 3+9=12
8§ 5+8=13 8§ 8+5=13 & 6+9=15 (| 8§ 8+4=12
9 8+8=16 9 8+9=17 9 10+4=14 || 9 9+9=18
Dl s5+10=15 Dl 7+9=16 0. 8+9=1 D 7+10=7
. 15-8=7 I, 15-7£8 I 14 6= I 15796 8
12, 15-4=11 12, 1109%2 12 G-Qad 120 142945
13 3+4+7=14 13 2+ 4906=12 i 5+3+5=13 B3 M1+o+4=11
I, 5+5+2=12 Lo1eg+4=14 ( F8+2=11 I, 7 +3+5=15
15, $7 + $8 = $15 ‘ 15, 1 43 - 8 =5 golf balls 15 9+ 7 =16 toycar |l 15, 15-7 = 8 blocks
6, _h_ 6. wrrwas & 6. am am ol 3
ﬁ, — 3% | < :-/ \( — ~
= | o (o
VAN
L 5xzsAd I @4Ax3=20 | I 7x10=70 L 6x2=12
2 7x9=18 [ 2) 5%l =5 210 x 3 =30 2 2x4=8
3 246=12 . 5x9=45 i 3 10x 4 =40 3 2x8=16
U 3x2=6 W’ 7x5=35 4 6x10=60 d 9x2=18
E 5 8x2=16 |- |5 2x5=10 ‘ 5 1x10=10 E 5 10x2=20
6. 2x1= “ |6 5x85=20 6. 10x8=280 6. 2x3=6
7. 2xX90.=20 7. 5xM0 <50 7 10x9=90 7 2x2=4
8 Tx2=14 5 3x5=15 8 10x 10 =100 8§ 1x2=2
g ‘2x.in4 9 6x5=30 9 5x10=50 9 5x2=10
lo. 2x4=8 0. Bx8=40 0. 10x2=20 0. 2x7=14
| N
Il 2x3=6 . 2x1=2 . 2x10=20 . 2x7=14
2 5x2=10 2 9x2=18 2 2x2=4 2 4x2=8
3 2x5=10 3 1x5=5 3 3x5=15 3 5x5=25
F u 5x7=35 F U 5x9=45 U 5x6=30 F d 5x8=40
5 10x2=20 5 10x6=60 5 10x1=10 5 10x4=40
6. 7x10=70 6. 10x 10 =100 6. 3x10=30 6. 9x10=90
I 47 I 51 I 46 I 88
2. 16 2 76 2 99 2. 31
Gl 55 Gl 15 3 71 Gl3 39
u 74 U 67 U 64 U 13
5. 61 5 33 5 17 5 93
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Worksheet 17 Worksheet I8 Worksheet 19 Worksheet 20
46, 47, 48, 49, 50, 51, 62, 64, 66, 68, 70, 72, 5, 10, 15, 20, 25, 30, 35, 170, 160, 150, 140, 130,
A | 52,53, 54,55, 56, A | 174,76,78, 80,82 A 40, 45, 50, 55, 60, 65, 70,/ | A @,110,@,@@
57, 58, 59, 60, 61 84, 86, 88, 90 75, 80, 85, 90 70, 60, 50, 40, 30, 20, 1
. 49 50 51 . 44 46 48 . 30 35 40 . 120 130 140
2. 34 35 36 2. 86 88 90 2. 60 65 70 2. 30 40 50
B3.®69m B3.@52ﬁ B3.ESO§ B3.@70&
U 43 44 45 U 62 64 66 4, 85 90 95 y. 90 100 110
3,12, 24, 37, 46, 53, 97, 82, 70, 61, 57, 43, 6, 11, 28, 30, 48, 55, 98, 84, 74, 66, 52, 40,
C 67, 73, 89, 93 C 31, 20, 18,1 C 60, 75, 81, 94 C 35, 29, 10, 2
| 7+0=17 . 3+6=9 . 0+10=10 . 7+3=10
2 3+7=10 2 8+0=8 2 9+1=10 2 9+0=9
3 10-3=7 3 10-5=5 3 10-4=6 3 9-7=2
y 9-9=0 y 10-8=2 U  9-6=05 U 10-0=
5 8+1=9 5 0+10=10 5 1.49=10 5, + 407
6. 9-7=2 6. 9-5=4 0-0=4 5, 1000=2
7. 9+7=1_ 7 9+8=17 7 9eC=18 707%6=13
8. +9=13 8§ 7+9=16 5+6=14 8+9=17
g. 3+8= 1 9 10+6=16 9 9+7=16 | 9 7+4=11
Dl 9+10=19 Dl 6+8=14 | B0 6+5=11 Dlw o9+e=1%
I 15-9=6 I 17-.9=8 I 17.-8£9 I 16 4858
2. 16-7=9 2. 15-6=¢ 2. 16697 2. 4ASSF=2
3 7+4+6=17 3 8+2+9U=19 13 0+104=14 130, 3 +5+5=13
I, 7+6+3=16 B+ 55 =16 L8+ 7=18 W, 9+10+1=20
15. 9+ 5 =14 golf balls 15, £ 15+ 7 = 9 biscuits 15, 19+ 8=17 cards ! 17 - 9 = 8 Iollies
16 ' ‘ 6. ! lé.
| T L1
NT ‘ N |
s Slinh '\ ‘N
. 9x5=4 I 441040 . _8x5%40 . 4x10=40
2 5S5xs5=40 2, (10x2+ 20 2 5x3=15 2 10x2=20
3 5x2-10 5%710x1=10 3 Hx4=20 3 10x9=90
U 1x5=5 | U 3x10=30 | ‘ 1x5=5 U 8x10=90
5 10x5=50 E 5 9x10=90 P 5 9x5=45 E 5 7x10=70
E 6. 5x7=3%5 6. 10x 6+ 60 || “ |6 5x5=25 6. 10x10=100
7. 5x6%20 7. 10x 5% 2 I 7. 5x6=30 7 10x1=10
8 GW5=25 8a 8x 10 =80 8 2x5=10 8 6x10=60
g9 4%55 20 9 “7x10=170 9 10x5=50 9 5x10=50
10. 5x 10=50 10, 10% 10 = 100 0. 5x7=35 10. 10x3=30
Il 2x8=16 Il 2x4=8 I 2x9=18 . 2x7=14
2. 6x2=12 2. 8x2=16 2. 8x2=16 2. 10x2=20
3 4x5=20 3 6x5=30 3 5x5=25 3 4x5=20
F U 5x10=50 F U 5x3=15 F U 5x8=40 F U 5x7=35
5 10x8=80 5 10x6=60 5 10x8=80 5 10x10=100
6. 5x10=50 6. 9x10=90 6. 4x10=40 6. 7x10=70
. 56 . 38 . 48 L 81
2 18 2 17 2 15 2 78
G |3 66 Gl 83 G|l 84 Gl3 44
u 81 U 44 U 22 u 87
5 65 5 71 5 51 5 18
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Worksheet 21 Worksheet 22 Worksheet 23 Worksheet 24
45, 46, 47, 48, 49, 30, 32, 34, 36, 38, 5,10, 15, 20, 25, 10, 20, 30, 40, 50,
A @1 ﬂ’ 21 531 541 401 421 ﬂ! @1 ﬂi A _01 _51 4_1 ﬁ! 501 A @1 m! &1 %1 1001
55, 56, 57, 58, 50, 52, 54, 56, 55, 60, 65, 70, 110, 120, 130, 140,
59, 60 58, 60 75, 80 150, 160, 170
. 24 25 26 . 56 58 60 10 15 20 . 20 30 40
BQ' 76 77 78 2. 16 18 20 BQ' 20 25 30 BQ' 40 50 60
3 18 19 20 3 38 40 42 3 35 40 45 3 60 70 80
4 89 90 91 4 24 26 28 4 45 50 55 4, 80 90 100
C 4,17, 26, 30, 43, 93, 80, 76, 69, 51, C 3,19, 22, 38, 47058, C 99, 87, 74, 68, 50,
59, 65, 78, 82, 91 44,32, 27,15, 8 64, 71, 860,95 45, 37,23, 16, 2
L 122 11| 3 13 . 15]2 12[3 16 I 17 ] 212 3 A7) )
d 115 14| 6 11 4 9|5 166 12 413518 6. 13 u,
7 148 119 15 7 16| 8 12| 9 13 74805 14| 9 18 7 19
lo. 1011, 1112 11 10, 1311, 0 |12 10 omMM311, 1112 15 | 10, 16
3 3| 1015 5 13 2|14 12|15 4 0. 3|1 1015 5. 13 4
6 1217 7 |18 11 6. 1417, 6 | 1g/11 l6. 1217, 0 L6 Wi |6 15
19 0120, 1|2 2 19. 1120, 32003 19. 4 1204 Jh 3 19. 5
22. 1123 2 |2u 2 22, 1023, 4‘.‘ 2 220 |25 5 u 1 22, 6
D |35 7 25, D oo | D'y
26, 15 go1 3 26, 1 26,12
27, 24 af o6 20027 e
|
28. $9+$4:$1\. 28, 7 + 6 = 10 car¢ l 28 5+ 7 =12 dapes | 28 4 + 9 =13 golfballs
29 16 -7 =9 gorhals 29 14 -5=9 bikks 29 17 - 9 =8 joiles 29 $11-$5=96
30, %40 60 30, $80 "3/ 570 30, €0 S %60 3. $60 3 $70
20 $20 $20 32, %520 . 35 $40 32, $30 33 $30 32, $30 33 $10
2 2 15 . 80 2 2 |i | 15 2. 50 L 8 2. 10
3 60 u 10 3 50 T 3 18 u 25 3 90 4, 20
- | 5. 45 6. 20 5 12 6. 35 ‘ — | 5. 100 6. 14 - | 5. 50 6. 30
3 7. 16 20 7. 70 & ¢ 3 7. 40 8 40 3 7 2 8 15
9 7 N 9 4 0, & 9 8 0. 3 9 9 0. 7
I 3 210 I, 4 2 2 I 9 2. 2 I, 10 2. 6
I 2 3 —‘:.4 2 2 . 3 2 7 2 2 8
3 4 d 9 9, d 9 39 uo2 39 u 7
5 8 6. 1 5 3 6. 7 5 1 6. 5 5 5 6. 10
7. 10 8 7 7 8 8 5 7. 10 8 8 71 8 3
Fl9 2 lo. 5 9 1 0. 10 Fld 6 lo. 4 Fl9 4 lo. 5
I, I, I, Il
25 . 81 L 31 92
2. 52 2 35 2. 46 2. 16
G 317 3 18 G 3 64 G 3 61
U 71 4 53 4 13 u 29
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Worksheet 25 Worksheet 26 Worksheet 27 Worksheet 28
70, 69, 68, 67, 66, 40, 42, 44, 46, 48, 5, 10, 15, 20, 25, 10, 20, 30, 40, 50,
A g’ ﬂ’ g’ Qa 611 A @1 21 ﬂ! &1 @1 351 @1 451 &1 A @1 m! &1 901 Ma
60, 59, 58, 57, 58, 60, 62, 64, 66, 55, 60, 65, 70, 75, 110, 120, 130, 140,
56, 55 68, 70 80, 85, 90 150, 160, 170
. 47 48 49 14 16 18 . 15 20 25 . 130 140 150
B.? 28 29 30 B.?. 20 22 24 2. 45 50 55 B.? 20 30 40
3 79 80 81 3 42 44 46 3 60 65 70 3 50 60 70
4 61 62 63 u, 28 30 32 d, 80 85 90 ¢, 100 110 120
C 7,14, 21, 39, 46, C 96, 87, 75, 69, 54, 9,11, 28, 34,42, 5 C 93, 86, 71, 65, 59, 43,
52, 63, 79, 88, 95 48, 33, 20, 12 66, 73, 85, a7 38, 27,16, 7
. 2012 16] 3 20 . 1212 18] 3 20 . 1412 18] 20 l 2. 15/ 3 20
16| 5, 20| 6. 17 g 115 13|6 17 T ‘;. 15 .6, 16 7 12"\ 16| 6. 15
7 20| 8 18|49 20 7208 119 14 70208119 15 701948 12]9 16
0. 101, 0 |12 12 0. 121, 2 |12 14 0. 19| 1. 1 12, 10 0. %11 412 15
13 2 |Iu 1415 1 13 5| 11115 0 500 |4 12]15 3 | 13 2 | 4 13445, 2
16, 16|17, 0 |18, 18 l6. 12 17. 7 |18, 44| 6. 1717, 2 |18.[i4 16, 13|17, 6 Lin15
19. 3120. 6 2. 0 19.7.?0.6‘”‘4‘ 19, 5 20, 842l 1 19 4 20, 5 2l
22 1|23 3|24 3 22. 8 29 2[5 22, 1023 /‘.; 5 22 3|8 W8
|
D 25,10 D 25, 10 | 25,9\ D a8
26, 11 26 .‘\ o7 )6, 1
27, 28 27, A7 D ,.;27\
28 9+ 9 =18 toycars ’.'4, $8+$3=$1 8 8+ 6=14 cards | 28 6+ 9 =15 grapes
29, 17 - 9 = 8 biscuits || .!q. 14-8=690lf1. 's 29, 16 - 8 = 8.piacks | 29, 14 - 9 = 5 Jollies
s0. $70 31 990 30, $80.4 3890 0. $8@ 3 2990 j0. $70 3. $90
32, 430 _ 530 820 32 %40 "33 40 32..$10 " 33 $40 32, $50 33 %20
I, 60 2 6 . 50 2. 10 b 4F 2 25 I, 30 2 4
3 45 4, 20 3 42 ¥, 35 ‘ 40 u 14 3 30 4, 50
5 16 6. 20 5 70 6. 6 5, 40 6. 90 5 10 6. 15
E7.80 g r7.5 s, 100 ||[ 7. 20 8 10 [160 8 16
9 1 10, ' 5 9 9 0. 8 9 5 10. 10 9 8 0. 3
I 2 206 I 3 12, n 7 12, 1 n 7 2. 5
. 6 Z 3 . 2 7 . 5 2.9 . 8 2 2
3 8 u 4 305 u 4 37 u 3 3 10 u 3
5 6 6 3 b 2 6. 7 5 2 6 1 5. 10 6 3
7. 10 8 8 79 8 1 7 8 8 4 7 6 8& 9
Fl9 6 lo. 9 Fla 1 lo. 2 9 5 0. 6 F |9 6 10. 10
I, I, I, I,
. 82 . 27 .19 I 49
2. 14 2. 51 2. 43 2. 12
G 3 28 G 3 72 3 91 G 3 21
u 41 U 15 U 34 u 94
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Worksheet 29 Worksheet 30 Worksheet 3l Worksheet 32
65, 66, 67, 68, 69, 80, 78, 76, 74, 72, 5,10, 15, 20, 25, 10, 20, 30, 40,
A m! u! Q! 731 H! A m! @1 @1 ﬂ! 621 A 301 _51 4_1 ﬁ! 501 A @1 @1 7_1 801 @1
75,76, 77,78, 60, 58, 56, 54, 55, 60, 65, 70, 100, 110, 120, 130,
79, 80 52, 50 75, 80 140, 150, 160, 170
69 70 71 34 36 38 . 25 30 35 . 10 20 30
BQ' 38 39 40 BQ' 22 24 26 BQ' 70 75 80 BQ' 40 50 60
3 54 55 56 3 40 42 44 3 40 45 50 3 90 100 110
4 20 21 22 4 6 810 4 5 10 15 4 70 80 90
C 9, 18, 24, 35, 49, 56, C 90, 84, 77, 61, 55, 40, C 11, 13, 14, 16, 19 32, C 78,76, 75, 72, 71, 68,
67, 70, 83, 92 31,25, 10, 6 33, 35, 3G1:39 67, U4, 63, 60
. 172 14[3 19 . 18[2 14[3 19 1219517 3 20 a3
125 17| 6. 14 13| 5 18| 6. 13 (125,18 6. 14 12
7198 12| 9 17 7 18|18 13|19 18 7485 18 9 14 7 47
0. 10 1. 0 |12 11 0. 101 0 |12 18 o141 1L 7 12 114 0 13
13 5|1 12]15 3 13, 1 1 1115 1 U2 1515 1. 13 6
l6. 16|17, 1|18 14 6. 1617 3 | 15016 l6. 10|17, 4 L6 48| |16 16
19. 3|2. 6 2. 4 19. 6 |20. 1421 1 19. 5|20 7. |<h 4 9. 1
22 2123 7 |2u 4 22 30.23/3 [Ju 4 2 @20 2 4 22. 1
D.:)5.7 D 25, D3.10\ D los 0
26. 19 N7 5 26,07
27, 24 2 7\ ) 25\ b 27, 27
|
28, 9+ 7 =16 goli s 28. 8+ 8= 1Boy s 28 $7+$9=916 28 9+ 6 =15 cards
29, $15-$6=$Q | 29, 12 - 8 = 4 bicouits | 29. 13-8-_‘:gu,,oa: 29, 14 -7 = 7 blocks
30. $80. 90 30, $90 " 3L/ $80 30, €0 27 %80 30, $80 31 $100
324 %30 31 $50 32, 0.%30 55 $20 32, $60 33 %40 32, $10 33 $30
I 45 2 20 . 6 2 35 || 140 2 8 I 30 2. 50
3 4 u 204 | 5 70 T 3 40 4, 90 3 10 g 15
- |5 80 6. 12 3 5 5 6. 400 \ - |5 20 6. 10 - | 5. 60 6. 16
3 7. 50 10 -7 14 & B 3 7. 30 8 2 3 7. 45 8 20
9 9 10. 10 9 4 10, 4 9 9 0. 8 9 2 0. 3
I, 2 0.3 I, 5 2 6 I, 9 2.7 o1 12. 10
I 2 5 N L7 2 3 . 4 2 3 l 6 2 4
3 4 T 7 g1 3 10 4 10 3 6 4 10
5 8 6 9 | 5 8 6. 9 5. 14 6. 25 5. 40 6. 10
77 8 1 7 5 8 6
Fl9 2 lo. 5 F |9 2 lo. 8 Fl7 5 Fl|7 7
I, I, 8§  $10:2=$%5 8§  $30+5=$%6
I 45 42 . 26 21
2 17 2 31 2. 81 2 65
G 3 54 G 3 24 G 3 18 G 3 56
71 u 13 U 62 U 12
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Worksheet 33 Worksheet 3u Worksheet 35 Worksheet 36
78,176,77,78, 179, 60, 62, 64, 66, 68, 10, 20, 30, 40, 50,
A | B0BLE28384 || | 072747678 || 4 e A | 8070 80,90, 100,
85, 86, 87, 88, 89, 80, 82, 84, 86, 30.25. 20 15. 10. 5 110, 120, 130, 140,
90, 91 88, 90 = = 150, 160
I 88 89 90 . 50 52 54 I 30 35 40 . 30 40 50
BQ' 59 60 61 BQ' 36 38 40 BQ' 10 15 20 BQ' 80 90 100
3 323334 3 82 84 86 3 657075 3 60 70 80
d 40 41 42 4 68 70 72 4 85 90 95 4, 110 120 130
C 61, 62, 65, 66, 69, C 48, 45, 43, 42, 41, C 10, 12, 15, 17, 18 C 88, 87, 86, 82, 80,
90, 92, 94, 97, 98 29, 26, 24, 23, 20 70, 73, 74, 77079 49, 47, 40,44, 40
I 14]2 12]3 20 . 162 11]3 19 . 19[2 °13] 1 20 . 1272 125 16
4 175 16| 6 13 4 145 20| 6 16 AR ‘;. 19 6. 15 " 14"\ 19| 6. 11
7. 18|8 11/ 9 16 7178 12| 9 17 7. 16,8149, 19 /0154.8. 1719 20
lo. 121, 5 |12 13 0. 10| 1, 3|12 11 0. 141 2|12 12 0. 41| 1 5 112 12
13 0 |14 1015, 1 13 4 |l 14]15 0 5002 |y 13115, 1 | 13 0 | I 1505, 1
16, 1217, 0 |18, 17 l6. 1417 3 |18, 10 16, 1117, 1 | 1&[15 l6, 13|17, 4 Lisn17
19. 120 6 2. 4 19. 2 120, 3|21 ‘ 19, 6 |20, 521 4 19. 3120 3 2. 3
22 2123 4 |24 6 22. 3129 4l i 5 2. 2 ‘23. )‘;4 5 22 5 | W0
D.:)5.9 D.?5.8 | D.:)5..\ D a9
26. 19 2677 16018 6. 15
27, 28 27. 48 :,;\\ ,.;26\
28 8+ 5 =13 grapes 250 9+ 4 =13 gopal 8 9+ 7 =16 toyfurs | 28 $8+ $9 =917
29. 15-7 = 8 loliies | <29 $12-%4 = %8 | 29. 13 -5 = 8Bpiscuits | 29. 14 -5 =9 golfballs
50, $80 3. 51004 30, $804 3128100 50, $8@ 31 wh00 30 $90 3, $100
32, 420 _ 3305 950 32 %40 2 °$40 32..%$20 "33 $70 32, $60 33 $60
. 12 2 20 .70 2 14 | b/ 40 2 90 . 16 2 45
3 80 4 6 35 d, 100 | ‘-, 2 4 30 3 60 U 4
5. 50 6. 10 5 8 6. 25 5. 30 6. 10 5 20 6. 20
3 7. 18 825 E 7. 40 s, 20 ||[ 7. 15 8 50 | 8 50
g 2 10, '8 9. 10 O 9 4 lo. 7 9 1 0. 2
I 6 1208 I 5 12. I 5 2. 8 I 3 2. 4
9 2 3 € 2.9 2 2 1 l 5 2 7
3 4 uo 2 307 4 5 301 U7 301 4 8
5 20 6. 60 20 6. 45 5. 90 6. 8 5. 50 6. 100
Fl7 6 Fl7 a Fl7 o Fl7 4
8  $60+10=$6 8  $14+2=97 8§  $25+5=95 8  $80+10=$8
I 63 14 75 . 61
2 15 2 39 2 91 2 47
Gs. 51 Gs. 41 Gs. 19 Gs. 74
u 36 u 93 u 57 u 16
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Worksheet 37 Worksheet 38 Worksheet 39 Worksheet 4o
85, 86, 87, 88, 89, 70, 72, 74, 76, 78, 5,10, 15, 20, 25, 160, 150, 140, 130,
A @1 _11 921 %1 %1 A &1 Q! M! 861 881 A _01 _51 4_1 ﬁ! 501 A 1201 mi 100, @a
95, 96, 97, 98, 90, 92, 94, 96, 55, 60, 65, 70, 80, 70, 60, 50, 40,
99, 100 98, 100 75, 80 30, 20, 10
I 46 47 48 I 46 48 50 . 75 80 85 . 100 110 120
B.?. 82 83 84 B.?. 88 90 92 BQ' 15 20 25 B.?. 30 40 50
3 7576 77 3 64 66 68 3 30 35 40 3 80 90 100
4 99 100 101 4 70 72 74 4, 90 95 100 4 50 60 70
C 31, 34, 35, 38, 39, C 99, 96, 95, 93, 91, C 21, 22, 25, 27,28, C 79, 76, 73, 72, 70,
50, 51, 53, 55, 57 38, 37, 34, 31, 30 81, 83, 84,85, (9 59, 58,56, 54, 52
. 14]2 15[ 3 17 1472 11[3 17 I 15] 2,17 3. 10| I
4 14| 5 18| 6. 12 4 18| 5 18| 6. 13 U205, 18| 6. 16 u,
7208 139 12 7. 20| 8 14| 9 19 772005 12| 9 17 7
lo. 141, 3 12 13 lo. 101, 0|12 18 oAT1 111112 144 10,
13 0|l 1615 2 13 1| 1215 3 U4 |1 1015 3 13, .
l6. 11|17, 6 18 13 6. 16|17, 7 | 18010 6. 1517, 1 L6 Wl L e 1217 0 ws 12
19. 4 120. 1|2 1 19. 8 |20. 1212 19. 11203 |Jh 4 19. 3 |20, 5 |Jh 2
22, 2123 7 |2u 2 22. 6 ‘23. /‘;‘ 5 2 @20 4 5 22 2 <h At 3
D | 7 D |54 Dlals D o5 io
26, 15 L P 26, 1 26, 11
27, 24 % 1 21026 | b W7 28
|
28, 8+ 6 =14 car | 28, 9+ 6 =18 gra | 28 3+9=12 Jn‘bah\| 28 T+ 7 =14 toycars
29 18-9=0 biosks b 29 15-7 =8 ioles 29 $17-$8.= 40 29 14 -9 =5 biscuits
30. $60. b $100 30, $90 3L 8100 30, 0 $100 30. $90 3. $100
324°%60 331 $30 32, @$80 . 337 $70 32, $50 33 $10 32, $10 33 $60
- _’_ |
L 80 2 6 . 25 2 100 |i | 1t 2 2. 30 L 60 2 4
3 35 4 10 8 U A 3 30 4 10 3 20 . 50
F 5 18 é. |k 5 40 6. 20 ‘ — |5 15 6. 50 F 5 12 6. 20
7. 70 14 -~ 17 10 & 9 3 7. 16 8 45 7. 80 8 6
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